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Question Number : 1 Question Id : 630680362168 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S B 0’ DEP58ES TS’ H2S5sTF0 5°¢%?
Options :

1. % 2r3$3%0

2. ¥ DO

3. % P8R

4. % 3008

Question Number : 1 Question Id : 630680362168 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following is NOT a member State of the Colombo Security Conclave?
Options :

1. ® India

2. % Myanmar

3. # Mauritius
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4. % Sri Lanka

Question Number : 2 Question Id : 630680362169 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SO &35 F20S S HEKN.) 2023850 H020S0D) 80 (HELINES” HBSD DY?

L. S0 IX0 23 B BF0 ABSTOD0A.

IL 5C580) AR — <0reES 35 ron®,aNTes e HEIR.
IIL SIS BOck Faed 2FeN 10 DA BEToW.
Options :

1. % 100050 II S5

2. % 108050 I S5°(¢h a0

3. % 11 08050 I S7°(ehadd

4. 1, T OB I

Question Number : 2 Question Id : 630680362169 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are correct in the context of the Voice of Global South Summit 2023?

I. The Summit was hosted by India.
II. The theme of the Summit was — ‘Unity of voice, Unity of purpose’.
II1. The Summit saw 10 sessions spread over two days.

Options :

1. % Only Iand II
2. % Only I and I1I
3. % Only II and 11
4.9 1, 1l and 11

Question Number : 3 Question Id : 630680362170 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e932S FesOBAS 163¢3 STTEAS 550, 2023 %66 36A0E?
Options :

1. % 22005

2. % Jre 530

3.¥ 8BS0

4. % 33 & 228

Question Number : 3 Question Id : 630680362170 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where was the Amazon Cooperation Treaty Organization Summit 2023 held?
Options :

1. ¥ Brasilia

2. # Salvador

3. ¥ Belem

4. % Rio de Janeiro

Question Number : 4 Question Id : 630680362171 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2022 F1 G0 BE ) (PO& (D5 Fed DI&?
Options :

1. % 0708 eSS’y

2. % 078 ) ST 0

ERENOVIO WS PLANDIN

4. % 00 B3O,
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Question Number : 4 Question Id : 630680362171 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the winner of the 2022 F1 United States Grand Prix?
Options :

1. ¥ Fernando Alonso

2. % Max Verstappen

3. # Lewis Hamilton

4. % Charles Leclerc

Question Number : 5 Question Id : 630680362172 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

278 202365, |05 $00(& SBOIES IrA ‘@388 D O BS” & D5, 80t%. B/ @9ehgd) ¢ DS HS) SO0.
Options :

1. ¥ UAE

2. % & 9B

3. v %39

4. % &8

Question Number : 5 Question Id : 630680362172 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In June 2023, Prime Minister Narendra Modi was awarded the ‘Order of the Nile’. It is the highest civilian award of
Options :

1. % UAE

2. % Saudi Arabia

3. ¥ Egypt

4. % Turkey

Question Number : 6 Question Id : 630680362173 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 e3¢5 0B S8 9 (NS 202565 (S 0250 5209 NASA T3NE) S0CIE3 357385 AS E?
Options :

1. ¥ ST I

2. % HOHIB 1

3. % HOHAB 2

4. % HAHIB 3

Question Number : 6 Question Id : 630680362173 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NASA’s first Human Mission to the Lunar south Pole to commence in 2025?
Options :

1. % Artemis 111

2. % Pioneer I

3. % Pioneer 2

4. # Pioneer 3

Question Number : 7 Question Id : 630680362174 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MOXIE, 2020 DR B0 da0e3?

Options :

1. ¥ 300 @8)238 RR-0E0 OD) ANEIBBAN 5 DOR0ES (Mars Oxygen In-Situ Resource Utilization Experiment)
2. % 35r0) @8)0S - BP0 ABSEBBAS 8 DB0E (Mars Orbital In-Situ Resource Utilization Experiment)

3/71



9/12/23, 6:11 PM

3. % 3000 @38)0S 98- D) BEBEAS DS IFFBAS (Mars Orbital In-Situ Resource Utilization Exploration)
4. % 3r0) @38)838 BR-0ED OFD) ANEIBBAN D5 HFFTAS (Mars Oxygen In-Situ Resource Utilization Exploration)

Question Number : 7 Question Id : 630680362174 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of MOXIE, 2020?

Options :

1. ¥ Mars Oxygen In-Situ Resource Utilization Experiment
2. # Mars Orbital In-Situ Resource Utilization Experiment
3. # Mars Orbital In-Situ Resource Utilization Exploration

4. % Mars Oxygen In-Situ Resource Utilization Exploration

Question Number : 8 Question Id : 630680362175 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢35 2015 HOG NS &5), GPS DONTE BT STHOTIE PARAS (GAGAN) @8)H59OS DB (b
&GO&?

L JoNOIY e05r0¢d eD todasr

I 2735 @0e50E. HBTFHS Do

11 3% £9 HBFLIS 0B ©DSHE S0P
Options :

1. ¥ T 0B 1T S°(¢had

2. % 11 08050 M S5 ehad

3. % 108050 I S5°(¢h

4. % T 11 HOAS II1

Question Number : 8 Question Id : 630680362175 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Agency has the role in development of GPS Aided GEO Augmented Navigation (GAGAN) operational since
2015?

1. Airport Authority of India
II. Indian Space Research Organisation
II1. Defence Research and Development Organisation

Options :

1.+ Only I and II
2. % Only Il and 111
3. % Only I and 111
4. % 1,1 and 111

Question Number : 9 Question Id : 630680362176 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is correct about LVM-3?

L. It is a type of Geosynchronous Satellite Launch Vehicle.
II. It launched the Mars Orbiter Mission (MOM).
III. It is configured as a three stage vehicle with two solid strap.

Options :

1. % Only I and I
2.+ Only I and 111
3. % Only II and 111
4. % 1,11 and 11

Question Number : 9 Question Id : 630680362176 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
LVM-3 5800 808 57¢365° OB &?
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L 90 2,8 38R0 BT0ITRV T°3BE €0 IES.
1. 2O 5570 €88 MAS (MOM)D €701 TBIOA.
1L 98 B0 O |TD & A 5070 536 TS0 520 TOHDA0E.

Options :

1. % 1308050 IT S (eh o

2. ¥ 108050 I S5°(¢H a0
3. % 1108050 I S3°(ehadd
4. % T 11 805w 111

Question Number : 10 Question Id : 630680362177 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
202365° 808 ¢3° & HYV 6% DBrerad 0DS59Q BFEd?

L e 88

IL P .87

L Y S

Options :

1. % T 08050 1T S5
2. % 11 08050 M 357 ¢had
3. % 108050 I S5°(eh a0
4. 1,1 O III

Question Number : 10 Question Id : 630680362177 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following HY'V seeds of wheat were developed in 2023?

I. Pusa Kirti
I1. Pusa Ojoswi
III. Pusa Poshtik

Options :

1. % Only I and II
2. % Only Il and I
3. % Only I and 111
4.9 [, 1 and III

Question Number : 11 Question Id : 630680362178 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PESTIIOS 215 FTRD) BCSES 270D D5 DGTS0 DY) (B0 0THDROE?
Options :

1. % 2019

2.9 2020

3. %2021

4. % 2022

Question Number : 11 Question Id : 630680362178 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When was the first National Education Policy of the 21 century launched in India?
Options :

1. % 2019

2.9 2020

3. %2021

4. % 2022

Question Number : 12 Question Id : 630680362179 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
808 ¢3¢ 20156° NCPCR T 99590 TOhB, £ D580 SR 0dmE 202265 XS PB0HDES SSSS
DT DTTS0 DE?
Options :
1. ¢ 920 AT
2. % 92O A BH
3. % 920 DS
4. ® 92O ASONS

Question Number : 12 Question Id : 630680362179 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an online complaint mechanism, which was developed by NCPCR in 2015 and revamped in 2022 to add new
features?

Options :

1. ¥ E-Baal Nidan

2. % E-Baal Nivaran
3. # E-Baal Samasya
4. % E-Baal Shikayat

Question Number : 13 Question Id : 630680362180 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2°C0ON DET-28 TE0 35O 2750 A HOOD 80& [HELSOE DA HBSE?

L &R 202365 Qs 0036 § T (FS0DODOL.

1L 98 6-12 0N YT 0§ SO K DV FHO BrrodONDR0R.
Options :

1. ¥ T 3 (do

2. % 11 S°(¢hadd

3. % 10805 I1 Bo&y

4. % 520 S 11 5°Q 5°¢%0

Question Number : 13 Question Id : 630680362180 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct about Jadui Pitara-a play based learning material?

L. It has launched by Ministry of Education in 2023.
II. Tt is tailored for children between the age group 6-12 years.

Options :

1. ¥ Only I

2. % Only II

3. ® BothIand II
4. ¥ Neither I nor 11

Question Number : 14 Question Id : 630680362181 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 e3S° FAXS DDEES EDAS, 2020 ©5.50 DE?

1L Eas TS, HOTTS DS DEH5E 5855 ToEHHSISO.

IL D088 @0c0erene GoTer A, @O g B S¢S )N 25565 ATO0TNEHH0.
Options :

1. % 1 35°(ehod

2. % 11 S°(hodd

3. ¥ 1080w 11 BO&Y

4. % 1520 S 11 52 5°¢%0

Question Number : 14 Question Id : 630680362181 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the aim of the National Medical Commission, 2020?

1. Improve access to quality and affordable Medical Education.
II. Ensure availability of adequate and high quality Medical professionals accessible to all the citizen.

Options :

1. # Only I

2. % Only II

3. % Both I and I
4. # Neither I nor IT

Question Number : 15 Question Id : 630680362182 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S B0 e85 00835 ¢ B TIOS BCHES e365255eh s ABNE D), SFFOSOOL.
Options :

1. % 35082023

2. % 00200 2022

3. ¢ 35000 2022

4. 8 23558 2023

Question Number : 15 Question Id : 630680362182 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In , Union Health Ministry rolled out countries first suicide prevention policy.
Options :

1. % March 2023

2. % September 2022

3. % November 2022

4. % January 2023

Question Number : 16 Question Id : 630680362183 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
NFHS-s (2019-21) 555260 &0 TP ae,@acsaod._

O3S By RS Ao Jend
| Bori Dinye 1 | 1020/1000
I BB DO G 2 | 35.2/1000

m Seharred FA0 Sootee Ot 3 | 24.9/1000

Options :

1.9 1-1, 11-2, 111-3
2. & 12,111, 111-3
3. % 1-3,101-2, II-1
4. % 1-1,11-3, 111-2

Question Number : 16 Question Id : 630680362183 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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As per NFHS-5 (2019-21) match the following.

Key Indicator of India Total Value

I | Sex Ratio 1 | 1020/1000

IT | Infant Mortality rate 35.2/1000

&

III | Neonatal Mortality rate 3 |24.9/1000

Options :

1. ¥ 1-1, 11-2, 11I-3
2. % 1-2,1I-1, 11I-3
3. % [-3, [I-2, 11I-1
4, % 1-1,11-3, 11I-2

Question Number : 17 Question Id : 630680362184 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
5 (SONAR) P0BEeh B0 80& a3e36S’ HBIE DE?

L 28 DA S50 EOFITE EdTBIAOTIICIS0E.
11. &t rOTDES DF-(FE3 DA DATROD

Options :

IR INE N

2. % 1 S°(¢hodd

3.9 10805 11 Bocky

4. % [ 520 S 11 5°Q) 5°¢0

Question Number : 17 Question Id : 630680362184 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is correct about SONAR technique?

I. It is used to determine the depth of the sea.
II. This technique works on Echo-ranging methods

Options :

1. # Only I

2. % Only II

3. % Both I and II
4. # Neither I nor IT

Question Number : 18 Question Id : 630680362185 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is use of ultrasound in medical field?

I. Ultrasonic waves are made to reflect from various parts of the heart and form the image of the heart
I1. Ultrasound scanner is an instrument which uses ultrasonic waves for getting images of internal organs of the human body

Options :

1. % OnlyI

2. % Only II

3. % Both I and IT
4. % Neither I nor II

Question Number : 18 Question Id : 630680362185 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
806 ¢3S R¢5s B0HOCS e FPRP0& TBE), CITZIHO DE?
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1. & PFIS HS0men HOT ANEY DV 23> O (DSBD0DOTEFT HOASW KHOT A3NEY DEFR), DB YT
SO 0TIV CHTON

11 &R0 8 7.0 9T 557 $880 00e5Pes 99007 D@D FORETE @ FPFAT SS0mre
EHBTAOT 2.8 HBZB0.

Options :

1. % I Xr(ede

2. % 11 S°(ehadd

3. ¥ 10005 11 Body

4. % 520 S 11 5°Q) 5°¢%0

Question Number : 19 Question Id : 630680362186 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
LASER &' ‘S’ @0%) De3?
Options :

1. % fg;)éé (Stationary)

2. % 2305S & (Simulated)

3. ¢ Q0SS BE (Stimulated)

4. % ?\)O@scﬁgc\) (Synchronous)

Question Number : 19 Question Id : 630680362186 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What does ‘S’ stand for in of LASER?
Options :

1. # Stationary

2. % Simulated

3. ¥ Stimulated

4. # Synchronous

Question Number : 20 Question Id : 630680362187 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
by 8D BBDOYoC.

SHEGEFeD HA drdo
| | b8 1 | e20m00aq0
I | oEen 3 | oo

Options :

1. % -1, 1-2, 11I-3
2. % 1-1, [I-3, [I-2
3. % [-3, [I-2, I1I-1
4.9 1-2,11-1, 11I-3

Question Number : 20 Question Id : 630680362187 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following.

Tools Working Principal
I | A Matchbox I | Magnetism
II | A Compass 2 | Friction
III | Mirrors 3 | Reflection
Options :
1. % I-1, 11-2, 111-3

2. % 1.1, 11-3, 1112
3. % 1.3, 112, I1I-1
4.9 122, 11-1, 1113

Question Number : 21 Question Id : 630680362188 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3SS° OTBIGS S0 HD &) aF§CHEN/BHe5 SFAN?
Options :

1. % S55rS¢h

2. ¢ moned

3. % 83&)

4. % )85

Question Number : 21 Question Id : 630680362188 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following diseases/disorders is caused due to the deficiency of iodine?
Options :

1. ¥ Anemia

2. ¥ Goiter

3. # Rickets

4. % Scurvy

Question Number : 22 Question Id : 630680362189 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
E3Dad D BBD0N0C..

Hd ©S505D Feaw
| | Denoe 1| ©9000a DI
11 208 SToe 2 | 56
1] |s0er 5 | Seereo
Options :
1. % 1.3, 11-2, I1I-1

2. % 1.2, 11-1, II-3
3. % 1.1, 11-3, I11-2
4.9 122, 11-3, 11I-1

Question Number : 22 Question Id : 630680362189 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Match the following.

Phylum Level of Organisation
1 | Porifera 1 | Organ system
II | Ctenophora 2 | Cellular
III | Chordata 3 | Tissue

Options :

1. % .3, 11-2, 11I-1
2. % 12, 1I-1, 11I-3
3. % L1, 11-3, 1112
4.+ 1-2,11-3, 11I-1

Question Number : 23 Question Id : 630680362190 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DEEE By, S E0N 585G D0B)0S" 8oB & 23060 'EONG &9 ST20 - DS B’ HOT
2508 )220 08?

L (re3 — |58 538

1. 3O 0o|en - s E5e3s
Options :

IR INVE TN

R (N

3. % [ 0805w 11 Bocky

4. % 1520 S 11 5°Q) 5°¢%0

Question Number : 23 Question Id : 630680362190 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Kingdom of organism — Cell type’ is correctly matched in the context of Whittaker's Five Kingdom
Classification?

I. Protista — Prokaryotic
II. Fungi — Eukaryotic

Options :

1. # Only I

2.% Only II

3. % BothIand Il
4. # Neither I nor IT

Question Number : 24 Question Id : 630680362191 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BPONS TR0 - FETEED %0’ TINEY 0B 235O A DB 23¢HNBTIDR0E?

L. 10N e - FA0H0 8 )TE
1. B80R & - Q00 @R
Options :

1. ¥ T 3

2. % 11 S0°(¢hadd

3. % 1000 1T Body

4. % 520 S 11 5°Q 5°¢%0
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Question Number : 24 Question Id : 630680362191 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘chemical name — common name’ is/are correctly matched?

I. Washing Soda — Sodium carbonate
II. Baking Soda — Calcium hydroxide

Options :

1. ¥ Only I

2. % Only II

3. % Both I and IT
4. # Neither I nor IT

Question Number : 25 Question Id : 630680362192 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
<8 335578 H02050D 80 ¢3S HBIE DE?

L. 2O 2558078 £ QX 300D HASIE TWONDRS0E.

I1. 96 2578000 $0°56h E0DI0 L0 H0ZN0TI 0TS Sard), LITFR)A0&.
Options :

IR NG

R (N

3. % [ 0805w 11 Bocky

4. % 1520 S 11 5°Q) 5°¢0

Question Number : 25 Question Id : 630680362192 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is correct regarding ‘Shake Map’?

I. It can be prepared in a few minutes before an earthquake.
II. It shows the extent of potential damage due to shaking following an earthquake.

Options :

1. % Only I

2.9 Only II

3. # Both I and II
4. % Neither I nor II

Question Number : 26 Question Id : 630680362193 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
by 8D BBDOYoC.

DDHdoen &rdrdn
| TS DHEL 1 | 096D Svoken
" B DD 2 | eotaTyEoen
| B Dhas 3 | (e Sookxen
Options :

1. % I-1, 11-2, 11I-3
2. % 1.1, 11-3, I1I-2
3. ¢ 1.3, 11-2, I1I-1
4. % 1.2, 1I-1, 11I-3
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Question Number : 26 Question Id : 630680362193 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Disasters Example
I | Geological disaster 1 | Forest fires
II | Biological disaster 2 | Epidemics
IIT | Accidental disaster 3 | Mines fires
Options :
1. % -1, 11-2, 1113

2. % 1, 11-3, [I-2
3. 13, 11-2, T1I-1
4. % 12, 11-1, 1113

Question Number : 27 Question Id : 630680362194 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is defined as “a potentially damaging physical event, phenomenon or human activity that may cause the loss of life
or injury, property damage, social and economic disruption or environmental degradation”, as per the United Nations?

Options :

1. # Disaster

2. ¥ Hazard

3. # Vulnerability

4. % Calamities

Question Number : 27 Question Id : 630680362194 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

08507350 (DSB0, "0 B TPONO, SR SN0, Fedreds OO 6308 DHTH0 B DTS § £aedd
SENODS FIEGRD 2T BE DOMEI, SAIAON0 BT 53569 SPBgEeTaTen” M 80A ¢3S D DB $D0TIDEOE?
Options :

1. % JHH

2. ¥ (DHSPS0

3. % Qd)eddso

4. % S

Question Number : 28 Question Id : 630680362195 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
H08 NEBED - DABED EFHO(Abbreviation — Full form)' T3ng) 808 26" DB SO 83HS5DR0A?

1. ISDR — 30300 7228 HO G20 88
I1. GIS — 2337(TPDES A)YBIAS DY
Options :

1. % I Xr(edo

2. ¥ 11 S°(¢had

3. % 10805 I1 Bo&y

4. % 520 S 11 5°Q) 5°¢%0

Question Number : 28 Question Id : 630680362195 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Abbreviation — Full form’ is/are correctly matched?
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1. ISDR - Indian Strategy for Disaster Reduction
II. GIS - Geographical Information System

Options :

1. % Only

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 29 Question Id : 630680362196 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

80H>¢3S” B, “BIBE &9 BWOrS’ e DEVTED?
Options :

1. ¥ 9:3°8) 05 15709

2. % I YORAN0 LD

3. % QO 8R I

4. % HED BEN0B

Question Number : 29 Question Id : 630680362196 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is called as ‘Terror of Bengal’?
Options :

1. % Eichhornia crassipes

2. % Paspalidium flavidum

3. # Eleocharis dulcis

4. % Cyperus rotundus

Question Number : 30 Question Id : 630680362197 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 35S’ IO DB B8NS IDR0E?

L BSH0 e - 570 06 SFEBS SS0K BETHAS H3rod S 25 B2 Dbde FFaw
IL 2500 - RSB BATHAS Erd0S IE B8R D TR0

Options :

1. % T 3¢5

2. % 11 S°(ehadd

3. ¥ 10805 11 Bo&y
4. % 1520 S 11 5°Q 5°¢%0

Question Number : 30 Question Id : 630680362197 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs is/are correctly matched?

1. Greenhouse gases — absorbs long wave radiation from the earth and emit it again towards the earth
II. Earth — re-emits heat in the form of infrared radiation

Options :

1. % Only I

2. % Only II

3. ¥ Both I and I
4. % Neither I nor 11

Question Number : 31 Question Id : 630680362198 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2,58 86965 DTG0 FBE) ST AOVOBOITTAR (B0 &) 0BT IO 2,0)00 DOSHE0 TOHDGOE?
Options :
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1. % 8¢5 19SS
2. ¥ 3708300 S |’ S
3. % 2 D0
4. % QOO DITrSF0

Question Number : 31 Question Id : 630680362198 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following international treaty was signed to control the emission of ozone depleting substance?
Options :

1. # Kyoto protocol

2. % Montreal protocol

3. # Bonn convention

4. % Vienna convention

Question Number : 32 Question Id : 630680362199 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

909 T DFOD IO B (FBE.S @957 2375 e (25069 S0 DTN TOOD. &2 @ar® 90O X.
Options :

1. % 35550080 357 add

2. % |IP0ED (FPomeed $e5055¢30r80 Se(¢dd

3. % HODOE SHSH

4. ¥ P06 (030 TWOAS H5HOE0 B HOHTeE

Question Number : 32 Question Id : 630680362199 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Amrita Devi Bishnoi Wildlife Protection Award has instituted by Government of India. This award is for
Options :

1. ¥ Only Individuals

2. % Only Communities from rural areas

3. # Only Institutions

4. % Either individuals or communities from rural areas

Question Number : 33 Question Id : 630680362200 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[0S0 BS 380050 537¢3 P 0E. DsTSE0 (D550 (0B (AR 70 T*O50HOD D805 OD S50 (oS
@08 )08&?

1. CO,
IL. CHy (BS)

III. CFC e
IV. N,O

Options :

¥ I>1>1V>1I
2. 1>11>11>1V
3EIM>IV>1>11
4. B [I>M1I>1V>1

Question Number : 33 Question Id : 630680362200 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following Green House Gases as per their relative contribution to total global warming from largest to smallest?

I. CO,
II. CH4 (Methane)

15/71



9/12/23, 6:11 PM

II. CFCs
IV. N,O

Options :

I.%¥ I>II>IV>1
2. 1>1>11>1V
3.FIM>IV>1>10
4. ® II>MTI>1V>1

Question Number : 34 Question Id : 630680362201 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Een) HosFEse HBOD 0B ¢3S’ HBS (DELD IE?

L 2o Eend) HOTFETeN § 35 DATOSND 5°& STSIETE SB VSO &0chs.
1. &8 SRPADRTEN QOO LoDYEY).

Options :

I NE Y

2. % I1 S°(¢hodd

3. % 10805 11 Bo&y
4. % 1520 S 11 52 5°¢0

Question Number : 34 Question Id : 630680362201 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct about Herbicides?

1. Most herbicides are toxic to mammals but are not as persistent as organochloride.
II. These chemicals does not decompose easily.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand Il
4. # Neither I nor IT

Question Number : 35 Question Id : 630680362202 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ORE TP SO0 2TEN (S0 D0IS YT F0T DBY) 208 DY (FPOBOCS” eI DBV S0EASN
DA VTR, A0,
Options :
1% 5968059
2. % J30°°©0
3¢ BEAD
4. % 8O (TTHOL DB eteN)

Question Number : 35 Question Id : 630680362202 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
refers to the sum total of weather conditions and variations over a large area for a long period of time (more than thirty years).
Options :
1. #¥ Season
2. ¥ Monsoon
3. ¢ Climate
4. ® Relief

Question Number : 36 Question Id : 630680362203 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following physiographic divisions of India was formed due to the breaking and drifting of the Gondwana land?
Options :
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1. % The Himalayan Mountains
2. % The Northern Plain

3. ¥ The Peninsular Plateau

4. % The Indian Desert

Question Number : 36 Question Id : 630680362203 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o s 2570 DDIG)0 SO0 ETBZNFS0 HO erESTIoS' 0B & DBTIF TS BJBS (T HPEISTS
D2 DBYB0E?

Options :

1. % 3P0 DO s8en

2. % &S N0

3.9 B 5080 DELTN

4. % 28¢5 Q38

Question Number : 37 Question Id : 630680362204 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
€95 BF0 - TEY' K0 H0D0A0D 0B BSOS’ DA DO 28NS )22B0E?

L. &R0 Hebed e e0cdyen — DoSar
I1. GQoDOS SRT S @9¢HYeN - B0
Options :

I NE Y

2. % 11 S°(¢hodd

3. % 1080w 11 Bo&y

4. % 1520 S 11 5°Q O 5°¢0

Question Number : 37 Question Id : 630680362204 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Forest type — Trees’ are correctly matched?

I. Tropical evergreen forests — Cinchona
II. Tropical deciduous forests — Rubber

Options :

1. ¥ Only I

2. % Only II

3. % Bothland Il
4. % Neither I nor 11

Question Number : 38 Question Id : 630680362205 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SFRITOOITS TBEY (OO DT 57°¢3 DO 20¢3 es&ren (500 9508 )0A.

| aINDlple)
1. @38
I1. 05°e0
Options :

1. % JI-I1I-T
2. % II-I-I1
3. % LIII-IT
4, % TII-III

Question Number : 38 Question Id : 630680362205 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following peaks of the Himalayas in the increasing order of their heights.
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1. Dhaulagiri
II. Annapurna
1. Makalu

Options :

1. % II-111-1
2. ¥ I-1-111
3. % [III-11
4. % I-11-111

Question Number : 39 Question Id : 630680362206 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S & NN ¢ &N € BTTE (WEMNEBID)) (EH0ES” DB @38 Y20 Eaoe), 0N?
Options :

1. % 0P < DO < Fesd

2. % DI <538 < 3B

3. % 3238 < Yl < DI

4. ¥ 30 <y < S AINIG

Question Number : 39 Question Id : 630680362206 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following rivers are correctly arranged in the increasing order of their lengths?
Options :

1. % Mahanadi < Indus < Godavari

2. % Mahanadi < Kaveri < Godavari

3. # Kaveri < Krishna < Mahanadi

4. % Kaveri < Krishna < Godavari

Question Number : 40 Question Id : 630680362207 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 BT BELO (DGO, B0B & 2SS0 T°(alen 3¢3 Oor AANBA 20¢3 es&sTea (WEHBNY ) 1E00S” SO
@0 )DFT0N?

Options :

1. % @Jr)0 < Far < Swrdo&

2. % )0 < SrPodk < Fer

3. ¢ B, Q0& < @ar)0 < ey

4. % 8rQoh < Far < )0

Question Number : 40 Question Id : 630680362207 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which the following Indian states are correctly arranged in the increasing order of their sex ratio as per Census 2011?
Options :

1. # Assam < Goa < Jharkhand

2. % Assam < Jharkhand < Goa

3. # Jharkhand < Assam < Goa

4. # Jharkhand < Goa < Assam

Question Number : 41 Question Id : 630680362208 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 B2 BELO (DGO, 2PSESTIOS” 0¢850 2372 EOAS TR0 DE?
Options :
1. % O°B8Y°Q
2. % 03507
3.9 GBS (0BT
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4. % 0OHNTT

Question Number : 41 Question Id : 630680362208 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the most populated state in India, as per Census 2011?
Options :

1. # Rajasthan

2. % Maharashtra

3. % Uttar Pradesh

4. # Madhya Pradesh

Question Number : 42 Question Id : 630680362209 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 B> BELO (DSS0, 80B 2TGE0D TGO T3 e0F T05¢5 BEND 20¢3 e85 (REHMN D)) (Eev0oS
9030,

1. 03*0°
I1. §g°¢8
1. (€3)S
Options :

1. % II-11-1
2. % II-I-T1I
3. % [III-II
4, % LII-IIT

Question Number : 42 Question Id : 630680362209 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following Indian states in the increasing order of their literacy rate as per Census 2011.

I. Maharashtra
II. Karnataka
III. Tripura

Options :

1. % II-II-1
2. ¥ 1I-I-111
3. % [-III-1I
4. ® I-1I-1II

Question Number : 43 Question Id : 630680362210 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 S0V OB TO(FITADTE0 (F0CHES DO D8 SBHV) e90S Yo,

L 13§ B0 er8esB30S (3r80D0NDR08.
IL 27565 55 5are3 (58.69) IO 2P SESTFOS” €950 TAHDEOE.
111 €33 2O |FE0D0D arSSTBFOS D B8 ¢ 2 DTS S0 TS IDFOW.

Options :

1. % TII-11-1
2. % I1-I-101
3. % [-I-1
4, % II-111-1

Question Number : 43 Question Id : 630680362210 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following events in the correct chronological order (from first to last).

I. Project Tiger was launched in India.
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II. Indian Wildlife (Protection) Act was implemented in India.
II1. Plants were added to the list of protected species in India, starting with six species.

Options :

1. % MI-1I-1I
2. % JI-I-1I1
3. % [-III-1I
4, # 1111

Question Number : 44 Question Id : 630680362211 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S 88 Hoed DE?
Options :

1% 58

2. % JB8FS

3. ¥ &8P

4. % 38323

Question Number : 44 Question Id : 630680362211 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a rabi crop?
Options :

1. # Cotton

2. % Groundnut

3. % Mustard

4. % Muskmelon

Question Number : 45 Question Id : 630680362212 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sardar Sarovar Dam has been built over the river.
Options :

1. # Kaveri

2. % Mahanadi

3. % Narmada

4. % Sutlej

Question Number : 45 Question Id : 630680362212 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ITD IEID @5 SED ABL0B0B08.
Options :

1. % 530

2. % IO

3.9 3828

4. % TS

Question Number : 46 Question Id : 630680362213 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR Deriio SR 23S 0725080 'S Y8 TP AFD0TIRSHOE.
Options :

1. % 000NN DB 37 2320

2. % 0738 S S8TRE QEren

3. % [POE Dren

4.9 DPONE TEopen
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Question Number : 46 Question Id : 630680362213 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The section on has often been referred to as the ‘conscience’ of the Indian Constitution.
Options :

1. ¥ The Union and its Territory

2. # Directive Principles of State Policy

3. # Fundamental Duties

4. % Fundamental Rights

Question Number : 47 Question Id : 630680362214 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28¢5 Toes060 T3NEY OF EFOZ H0D0A0D 808 T3S’ HBIE S DE?
Options :

1. % (526506 a7 e0TTeN0ETow.

2. % 355 (DB ) 8506’ (D238 (D65 sE. (¢h.

3.9 O°lalen) @950 DTS (9208 S8 DZBOLY S5 eha.

4. % 70¢30 TEL OB TP VS DB0E.

Question Number : 47 Question Id : 630680362214 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding the features of the Indian Constitution?
Options :

1. # There are three organs of government.

2. # People have a direct role in electing their representatives.

3.+ States are merely agents of the federal government.

4. # The rights of minorities are guaranteed.

Question Number : 48 Question Id : 630680362215 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
28¢5 Ters060 DOBI0S 80B & 3¢ 'S - TS DO 2351SI22E0E?

1. &08S 21A — DeseTioy

11. &30S 39A - DS T°50N0 DO e Deh IO DHAHO
Options :

IR NS

2. % 1 S°(ehodd

3. ¥ 1080w 11 By

4. % 1520 S 11 52 5°¢0

Question Number : 48 Question Id : 630680362215 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Article — Provision’ is correctly matched, in the context of the Indian Constitution?

I. Article 21 A — Right to education
II. Article 39A — Equal justice and free legal aid

Options :

1. % Only I

2. % Only II

3. ¥ BothIand Il
4. % Neither I nor II

Question Number : 49 Question Id : 630680362216 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2rESTIOS’ O T°es0 e0ES & JrHEIeN INGBITEID 002378 TANEIE HON T H0BT*)EY 38 >
21/71



9/12/23, 6:11 PM

DR0)0& BOHERE, B TONEAE B 3573 )R8 95851 5B0 9HST ) OBNO0E?
Options :

1. % e388S 141

2. % e388S 151

3. ¢ 88 161

4. % 0% 171

Question Number : 49 Question Id : 630680362216 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Constitutional Article in India provides for Power of Governor to grant pardons, etc., and to suspend, remit or commute sentences
in certain cases?

Options :

1. # Article 141
2. % Article 151
3. % Article 161
4. % Article 171

Question Number : 50 Question Id : 630680362217 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T RIB ALES” DB P I90 )2

L POTD0LD 52305 HIOE Y BN Havgew.

11 O°() B2 02550 D) S dghgen.

ML @O 7705025 3083 3FORT O FONDZE0 DB DEvgen.
Options :

1. % 108050 11 S5

2. % 1 08a%0 I &5 eb a0

3. % 0805w 11l Boky

4. 1,11 HOASW 111

Question Number : 50 Question Id : 630680362217 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who can participate in the election of President?

I. Elected members of both house of parliament.
II. Elected members of legislative assemblies of the state.
III. Elected members of Delhi legislative assembly and Pondicherry legislative assembly.

Options :

1. % OnlyIand II
2. % Only I1 and 111
3. % Only I and 111
4.+ 1, Il and 111

Question Number : 51 Question Id : 630680362218 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Hs PO BaD0D06.

T2 e0sS
| QD00 SPO[I0CGETS 0905700 1 106
|| | ERTDE QOIS 0‘*%:)93 305 Co 2 72
11 | gR0en DDy SazsErgen 3 52
Options :
1. % -1, 11-2, II-3

2. % [.1,11-3, 1112
3. % 1.2, II-1, I1I-3
4. 1.3, 11-2, 11I-1

Question Number : 51 Question Id : 630680362218 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Provisions Article
I | Executive power of the union 1 106
II | Power of President to Grant Pardon 2 72
Salaries and Allowances of members
II1 ] 3 52
of Parliament
Options :

1. % 1.1, 1I-2, 11I-3
2. % -1, 11-3, [1I-2
3. % 1.2, 1I-1, I1I-3
4.+ 1.3, 11-2, 11I-1

Question Number : 52 Question Id : 630680362219 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 o0 30(& 5B AT STESISOES 2370 5°Q 30 DIB?
Options :

1. % Oolded

2. % &HO DS

3. % (D50 o(ed

4. FPOJVED 238 e85 0305>

Question Number : 52 Question Id : 630680362219 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a part of the union executive?
Options :

1. # President

2. # Vice President

3. # Prime Minister

4. # Solicitor General of India
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Question Number : 53 Question Id : 630680362220 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28¢5 025060635 808 395G ) S KDNOTW TV A5 T*ETIE HODOAODIE DE?
Options :

1. % 388 118

2. 3085 124

3. % 388 132

4. % 305 136

Question Number : 53 Question Id : 630680362220 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following article of the Indian Constitution is related with establishment and constitution of the Supreme Court?
Options :

1. # Article 118

2. % Article 124

3. % Article 132

4. % Article 136

Question Number : 54 Question Id : 630680362221 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who can appoint a person as Attorney General of India?
Options :

1. ¥ President

2. # Prime Minister

3. # Law Minister

4. ® Chief Justice of India

Question Number : 54 Question Id : 630680362221 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8538 €0¢378) 2SS 2,8 58 DK AAHOTIKS?
Options :

1. ¢ O[OS

2. % 105 DHo(ed

3. % 50 o(ed

4. % 2386 (DN °50000°0

Question Number : 55 Question Id : 630680362222 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PSESTFOS” T AE 1925065 5 DOR® BFHED YD eI 1B eNZoT) B0?
Options :

1. ¥ &0 85)S

2. % o0 52550

3. % oD OOS

4.% B IBY

Question Number : 55 Question Id : 630680362222 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who took the initiative in creative local government bodies in India?
Options :

1. ¥ Lord Rippon

2. % Lord Cornwallis

3. ¥ Lord Lytton
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4. ® Lord Wellesley

Question Number : 56 Question Id : 630680362223 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 a7¢36S° & T°a350M 9B IO Hr )0 FE (D2HEr ), OESEE0 TFE?

L 735 T°2508 Daddea WSO
I1. 7405 T°23° 500 03B YO
II1. 775 T2 500 Qa8 580
Options :

1. ¥ T 00050 1T S5

2. % 11 08050 I S5°(¢hadd

3. % 108050 I S5°(¢h a0

4. % 11 005w 111

Question Number : 56 Question Id : 630680362223 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following Constitution Amendment Act formalised local government in spirit?

1. 73" Constitutional Amendment Act
11. 74 Constitutional Amendment Act
I11. 77 Constitutional Amendment Act
Options :

1. ¥ Only [ and II

2. % Only II and 111

3. % Only I and III

4. % 1 1I and 111

Question Number : 57 Question Id : 630680362224 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HOTTFONE HoRS’ B23B 50 HBOD o0& ¢3S HBIE DE?

L @) HOTPONE HONOE’ 07Cha5 90 Foaen sVETFHFIH TEFON0TIDFOW.

IL 2265759 Z0eren S0B8A5N PSS SHOZ e 78 23757 AA)BES’ 05°¢8) OO 8238 5§30 §O oI om.
Options :

IR INE N

2. % 11 S°(¢hodd

3. ¥ 1083w 11 BO&y

4. % 1520 S 11 529 5°¢0

Question Number : 57 Question Id : 630680362224 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is correct about Reservation in Panchayat Institution?

I. One third of the position in all Panchayat Institutions are reserved for women.
II. Reservation for scheduled castes and schedules tribes are also provided for at all the three levels in proportion to their population.

Options :

1. % Only

2. % Only I

3. % Both I and IT
4. % Neither I nor IT

Question Number : 58 Question Id : 630680362225 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DO TR aPSSTIHL) e, sded HDONYBED €I 5e5ed HDOCIB)0ES &2 (8O HONEISO RBcded Hod
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DB HBB B BT NS0 @08 )0k,

L. DBNT0D S00BEO) DT®)EN.

I 563 OFHNS HAB D HOHDR0E.
11 DOA 023 DT> )EW.

Options :

1. % [-II-ITT

2. % LIII-II

3. I1-I-11

4. % [I-I11-1

Question Number : 58 Question Id : 630680362225 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following events in the correct chronological order from first to last, in the context of the social and religious reform
movements of the nineteenth century India.

I. Formation of Paramhans Mandali.
1I. Sati Pratha was banned.
III. Formation of Singh Sabha.

Options :

1. ® I-II-111
2. # [-MI-II
3.9 II-I-11T
4. ® I1-111-1

Question Number : 59 Question Id : 630680362226 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23865 230D E5eIaN0 DOCIBYOCS’, &3 [BOA HDONEIIE RcIE3 O DB HBE OB SOESTDII S0
€908 )08%.

L. 3’0 w980

II. &) O&°§|5e3°0

ML 38 FT° oS
Options :

1. % L1101

2. LI

3. % II-I-11I

4. % II-11-1

Question Number : 59 Question Id : 630680362226 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of the Indian National Movement, arrange the following events in the correct chronological order from first to last.

I. Rowlatt Act
II. Salt satyagrah
III. Chauri Chaura Incident

Options :

1. ® I-II-111
2. I-II-1
3. % II-I-II1
4, % I-1I-1

Question Number : 60 Question Id : 630680362227 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
80& &I B OB VI8 HBZY JB N 5O EST SO €908 )08,

L. 2830 ASwPo
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L 2R AP0
1L (330855¢3),0 Ao
Options :
1. % LI
2. % LILII
3. % LI
4. ¢ ILLII

Question Number : 60 Question Id : 630680362227 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following events in the correct chronological order from first to last?

1. Battle of Buxar
II. Battle of Plassey
II1. Battle of Seringapatam

Options :

1. ® [-II-11
2. % [-II-111
3. % II-II-1
4, ¥ 1I-I-111

Question Number : 61 Question Id : 630680362228 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"OS0e3) b0 a8 @3¢558506 (S0 050G08.
Options :

1. ¥ &0 Truoh)

2. % 0 5°00oh

3. % oD DOOHO 30308

4. % o0 525) 3O

Question Number : 61 Question Id : 630680362228 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The policy of “paramountcy” was initiated under
Options :

1. ¥ Lord Hastings

2. # Lord Hardinge

3. ® Lord William Bentinck

4. # Lord Cornwallis

Question Number : 62 Question Id : 630680362229 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[0S B85 S HVOBOST E0DA BOTS OFIT ODMOTTEE.
Options :

1. % 1758

2. %1765

3. % 1772

4. % 1783

Question Number : 62 Question Id : 630680362229 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Mughal emperor appointed the East India Company as the Diwan of Bengal in
Options :

1. % 1758

2.9 1765
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3. % 1772
4. % 1783

Question Number : 63 Question Id : 630680362230 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
OB S0 B0E) DN,
Options :

1. ¥ *0° D

2. % 2335750 oF 2700

3. % D ered o°))

4. % o°ed ©8 2270

Question Number : 63 Question Id : 630680362230 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Tantia Tope was the general of
Options :

1. ¥ Nana Saheb

2. % Bahadur Shah Zafar

3. # Peshwa Baji Rao

4. % Rani Lakshmibai

Question Number : 64 Question Id : 630680362231 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8003’ DB 33 9DNHE HrDE Fereh 2¢50?
Options :

1. % & 00050 es&HsEES 28eh0

2. % 280

3. % 3B BIS (HSTe0

4. v 5% 233185¢%

Question Number : 64 Question Id : 630680362231 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a dimension of Human Development Index?
Options :

1. ¥ Long and healthy life

2. % Knowledge

3. # A decent standard of living

4. ¥ Food security

Question Number : 65 Question Id : 630680362232 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S B 27 eh (2N S EIE DDEO S°CH?
Options :

1. # MGNREGA

2. % HS S0 GIersO% - (Taded e s ABoresdd
3. ¥ PM SVANIdhi

4. ¥ 20D TS DIFAH B E0

Question Number : 65 Question Id : 630680362232 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an employment scheme of the Government of India?
Options :
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1. ¥ MGNREGA
2. % Deen Dayal Upadhyay — Gramin Kaushalya Yojna
3. % PM SVANidhi

4. # National Social Assistance Programme

Question Number : 66 Question Id : 630680362233 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HDI BHIS 20T )50 H0200H0D 808 7¢3° D HBIE?

L. 80NTAH0 HrDE ©FE HDI BIOXS ROTSHS' a3i0.
IL DSEAS R0TE) @9 HDI BHIS R0TBE IS’ erifo.
Options :

IR NG

2. % I S0 (eh e

3.9 [ 080w 11 Bocky

4. % 1520 S 11 529 5260

Question Number : 66 Question Id : 630680362233 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct for HDI Dimension Index?

I. Life expectancy index is part of HDI’s Dimension Index.
II. Education Index is part of HDI’s Dimension Index.

Options :

1. % Only 1

2. % Only Il

3. ¥ BothIand II
4. % Neither I nor 11

Question Number : 67 Question Id : 630680362234 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S 308 SB0 DB DB L9350 E?

Options :

1. ¢ 3690 SNFHB0 QST B0B0 95000 HBALN TNB0 SAFY IS 958530.
2. % B0 S5000 HOON KEIO BNEIHOS D TNB0 ST IS 95850.
3. % 0P H5ON0 OO TG ST 83§ S5 I0.

4. % 3503 S 0805 0P 53O0 EIS S§E°E0.

Question Number : 67 Question Id : 630680362234 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct definition of fiscal deficit?

Options :

1. ¢ The difference between total expenditure and total receipt excluding borrowing.
2. % The difference between total expenditure and total receipt including borrowing.
3. # The difference between revenue expenditure and revenue receipt.

4. ¥ The difference between capital receipt and capital expenditure.

Question Number : 68 Question Id : 630680362235 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 e3¢ TS SIPTEY HAS SIS DE?

Options :

1. # &SP00D) D) EBES O FoAS Jno

2.9 D20 5 Sogaren

3. % (D205 5 SO0 AP N0 PO AATOL LB ereren
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4. % (52506550 55 BEHINOZ AN IS KEFOD I D 5ESe

Question Number : 68 Question Id : 630680362235 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a suitable example of capital receipt?

Options :

1. # The receipt from collection of income tax

2.+ Borrowings of government

3. # Dividend and profits received from public sector units

4. % Interest receipts for loans given by government to its debtors

Question Number : 69 Question Id : 630680362236 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Hied TeOHD a@bc{hod_

HE&go

Fodoserdd 38

TP 0083 ST 0377225

93n 2015

Qﬂcﬁ 99 QoloiF NG

2 |8 0x¢52015

m e9e3ey ;}[gl% 037230

3 | 50652016

Options :

1.+ 1-2, 11-3, 11I-1
2. % 1-1,11-2, 11I-3
3. % L1, 11-3, 1112
4, % 1.3, 111, 11I-2

Question Number : 69 Question Id : 630680362236 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following.

Scheme Launch Date
I | Pradhan Mantri Mudra Yojana | 1 | 9th May 2015
II | Stand up India Scheme 2 | 8th April 2015
III | Atal Pension Yojna 3 | 5th April 2016

Options :

1. -2, 11-3, I1I-1
2. % 1-1, 112, 11I-3
3. % I-1, 11-3, II-2
4. % 1.3, 11-1, 11I-2

Question Number : 70 Question Id : 630680362237 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2585 (DETDE SrdBO YT DO HBREIT B2

Options :
1. % 30°0 5023 HBd
2. ¢ (5706 0 DITOSDD
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3. % S PLDTDN
4. % rrerod S8

Question Number : 70 Question Id : 630680362237 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is considered as the architect of Indian planning?
Options :

1. ® Saradar Vallabhbhai Patel

2. ¥ Prasanta Chandra Mahalanobis

3. # S. Swaminathan

4. % Dadabhai Naoroji

Question Number : 71 Question Id : 630680362238 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S DOTINE |DETDE (BFHNE 55N IN?

L 2305 SEFANOES HEIDONTS RS
II. &ard ©355°3°0 238 DB
1L e8c°000 B0 HONEHESS 0HXTIBO oo

Options :

1. % T 08050 1T S5

2. % 11 08050 M 35°(ehad
3. % 108050 I S5°(ehad
4. 1,1 O III

Question Number : 71 Question Id : 630680362238 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following are basic objectives of a five year plan?

I. A sizeable increase in the national income
II. A large expansion of employment opportunities
III. Reduction of inequalities in income and wealth

Options :

1. % Only I and II
2. % Only II and 111
3. % Only I and 111
4. 1,11 and 111

Question Number : 72 Question Id : 630680362239 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Initially the New Agricultural Strategy (Green Revolution) was limited mainly to
Options :

1. # Maize and wheat

2. % Maize and rice

3. % Wheat and rice

4. % Maize and mustard

Question Number : 72 Question Id : 630680362239 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(BPSE023065° SeHS 35 TO% P50 (PO DRH0) (DGTSOT 8 H8eH0 BaHd&od.
Options :

1 % Z0E)E0) 00K e

2. % [E)ER) OO 38

3. ¢ {75003 B8O 58
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4. % J0EYEN) SHOA esaren

Question Number : 73 Question Id : 630680362240 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S DAY BT D8 DB DG DE?

L Lf’%) DBNOE DI F°E03 0 HDOAW LNTFLD DF V0T IS

I R )BDED D3 378020 DTN €9655°7°20 ¥ S0T HE0VCE.
Options :

1. % T35

2. % 11 S°(¢hadd

3. ¥ 10805 1T BO&y

4. % 1520 S 11 52 5°¢%0

Question Number : 73 Question Id : 630680362240 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is correct explanation of the term ‘feminist’?

1. A woman who believes in equal rights and opportunities for women and men.
II. A man who believes in equal rights and opportunities for women and men.

Options :

1. % Only I

2. % Only II

3. ¥ Both I and I
4. # Neither I nor II

Question Number : 74 Question Id : 630680362241 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 e3S° Q) BF0S 1923 BSOS P FE 2PN §050 TET VY I GOE?

LSS

1. 5°0 §

Options :

IR INVE TN

2. % 11 5075 a0 0O

3.9 10805 11 Bodky

4. % 1 SE TP 3¢

Question Number : 74 Question Id : 630680362241 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following countries participation of women in public life is very high?

I. Sweden
II. Norway

Options :

1. % Only I

2. % Only I

3. % Both I and IT
4. % Neither I nor IT

Question Number : 75 Question Id : 630680362242 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2050 FBO® AGTIS STV SDODN “NTR (B’ & APSTe8E 9030 STPSE0M SrroSOTIDG0E?

L S0arFed Qoo
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I 30 Q0O
11 23°¢3 DN
Options :
1. % 08050 1T S5
IR NV
3. % 108050 I S7°(¢had
4. % 1 08050 I &5°(eb 50

Question Number : 75 Question Id : 630680362242 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Begum Rokeya Sakhawat Hossain’s ‘Sultana’s Dream’ is based on which social issue?

I. Women’s Issue
II. Caste Issue
III. Racial Issue

Options :

1. % OnlyIand II
2.% Only I

3. # Only I and 111
4. % Only II and 111

Question Number : 76 Question Id : 630680362243 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Telangana is in Plateau.
Options :

1. ¥ Malwa

2. % Chota Nagpur

3. # Peninsular

4.+ Deccan

Question Number : 76 Question Id : 630680362243 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0TTED T°3)0 DEEPDS” God.
Options :
| % DO

) % D AP
_ E:.SEJS&JD

AV t:’ysbt%

Question Number : 77 Question Id : 630680362244 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Zof arede)® Boorrr DIDTD &) TRO Db

Options :

Fbre desre]
1. % £

X tﬁ@ﬁ)ﬁ‘i

33/71



9/12/23, 6:11 PM
3 % YOSDOT

4 v TS

Question Number : 77 Question Id : 630680362244 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following states lies to the west of Telangana?
Options :

1. ¥ Maharashtra

2. # Chhattisgarh

3. ¥ Andhra Pradesh

4. % Karnataka

Question Number : 78 Question Id : 630680362245 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

300 T°BS° D /O PgoareDd OO EGrirdo mrerrst a6 DB eod?
Options :

L® DY

) % F2b

- éa;td,ﬂva

4 W 207

Question Number : 78 Question Id : 630680362245 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following rivers forms the boundary between Burgampadu and Kothagudem taluks?
Options :

1. ¥ The Muner

2. % The Sabari

3. % The Kinnerasani

4. # The Wyra

Question Number : 79 Question Id : 630680362246 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is CORRECTLY matched?

I I
A) Telangana State Animal 1) Palapitta
B) Telangana State Bird 2) Tangedu
C) Telangana State Flower 3) Jinka

Options :

1. % A-1,B-3,C-2
2. % A-1,B-2,C-3
3.9 A-3,B-1,C-2
4. % A-2,B-1,C-3
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Question Number : 79 Question Id : 630680362246 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
So& Toe3eS” DB VO 2SDOWRC06?

I Il
-t a
A) deorres TG 2080 1) Jrodol
B) @eorres U D& 2) avotico
C) Bworres TR 2DDY 3) 2os
Options :

| % A=, B-3, C-2
> % A1 B-2,C-3
3 A-a B-1 C-2

4 % A2, B, C3

Question Number : 80 Question Id : 630680362247 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DOOTTPEs T°Z) (605 TR, 2022 V5 00 BOOTFER 27T roies

Options :
| x DD 88D 322

5 v D3 DI e
5 % OB D8 302

4 % DD SEDO 332

Question Number : 80 Question Id : 630680362247 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the population density of Telangana as per Telangana State Statistical Abstract, 2022.
Options :
1. # 322 per sq. km
2. % 312 per sq. km
3. % 302 per sq. km
4. % 332 per sq. km

Question Number : 81 Question Id : 630680362248 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Telangana government has introduced the Telangana Unemployment Allowance Scheme which provides a monthly allowance of
to the unemployed.

Options :

1. % 33,061
2. %2016
3.9433,016
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4. % 22,061

Question Number : 81 Question Id : 630680362248 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Beoorres PEDAo Boorres DHE(T ZHA DETDY PDTOHEO, @B DOLEDLOD duard FHAT V)
29000k,

Options :

| % 3061

) % 2016
3 & 3016

4 # R 2,061

Question Number : 82 Question Id : 630680362249 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Boorre Foir ISTFIS BHens 2023 P00, Buomres” dge TotrFE Iad ﬂvmgao Jdogs?

Options :
| & 17.667 MW

5 = 16767 MW
3 % 18667 MW

4 % 18766 MW

Question Number : 82 Question Id : 630680362249 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the total Contracted capacity of power in Telangana as per Telangana Socio Economic Outlook 2023?
Options :

1. ¥ 17,667 MW

2. % 16,767 MW

3. % 18,667 MW

4. % 18,766 MW

Question Number : 83 Question Id : 630680362250 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ReoTrE VPadir ISardns BHens 2023 HS 00, BOIOTTE DGO o B& B0 90 God.

Options :
| % 109620 8.2

5 % 190260 3.2
3« 109260 .20

4 % 119,260 320
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Question Number : 83 Question Id : 630680362250 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana has a total road network of as per Telangana Socio Economic Outlook 2023.
Options :

1. % 1,09,620 km

2. % 1,90,260 km

3. % 1,09,260 km

4. % 1,19,260 km

Question Number : 84 Question Id : 630680362251 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To how many international destinations the Rajiv Gandhi International Airport (RGIA), Hyderabad is connected as of October 2022?
Options :

1. % 15

2.9 17

3.% 19

4. % 20

Question Number : 84 Question Id : 630680362251 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
©Fb 2022 B8, TED rod e0arAo Dararzabo (RGIA), (a0erd I osTE0D (ONPTrO

200D Docidc: &0b?
Options :
1. % 15

2. A7
3 % 19

4. % 20

Question Number : 85 Question Id : 630680362252 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DOOTTE JPdIr SIS THenS 2023 P00, 06 Tl D DS SO

Options :

Beorrraes DeEgS Do a0 18,069 DOTTPORED.
1. ® @ & 35

5289 208 TogrodS” BeoTres AT 9 B D DIC P SN eod.
2.¢ =

TPR08” DG DB SDER) 174.03 VLD,
3' w — g

i 20141 aubaty 2021-22 m@igeﬁ" Dot SeDd 3)@55 02;5592'9 17 Te 000d.

Question Number : 85 Question Id : 630680362252 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is INCORRECT as per Telangana Socio Economic Outlook 2023?
Options :

1. # The Installed capacity of power in Telangana is 18,069 MW.

37/71



9/12/23, 6:11 PM

2. % Telangana has the third lowest transmission loss among South Indian states.
3. # The total electrical connections in the state are 174.03 lakh.

4. # Telangana experienced an increase in the per capita availability of power by 1.7 times between 2014- 15 and 2021-22.

Question Number : 86 Question Id : 630680362253 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sbal{evitlgR= LT Qv;)@c:: €2060D) P Ero ol B Jarso POITrRae Todod.

Options :
| % 0o Tradodo

.

) % €D aFar TrRD0P0
3. v DB0BD arer TradoFo.

4 % -QJ“Q TPEa00T0

Question Number : 86 Question Id : 630680362253 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the medieval era, Telugu literature benefitted from the patronage provided by the founder of the
Options :

1. # Cholas dynasty

2. # Asaf Jahi dynasty

3. % Qutb Shahi dynasty.

4. % Khalji dynasty

Question Number : 87 Question Id : 630680362254 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D BOOTTE 2rak BTHTD) 2EEDDEPH

Options :

| ‘goaaé 9

Taayoed 19
ED

oayonb 29
ED

avod 6
ED

Question Number : 87 Question Id : 630680362254 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
, is celebrated as Telangana Language Day.
Options :
1. ¢ September 9th
2. % September 19th
3. # September 29th
4. % September 6th

Question Number : 88 Question Id : 630680362255 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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DOTTE? 733065 RUDIDDD 308 2 VoA ‘DO DocHT 9 S HenJrdr

Options :
[ % oo

3 % &Trh

4 ® Horen

Question Number : 88 Question Id : 630680362255 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following festivals is also called as ‘peerla panduga' in Telangana state?
Options :

1. ¥ Ramzan

2. % Moharram

3. # Ugadi

4. # Bonalu

Question Number : 89 Question Id : 630680362256 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

300 TS D YT TPV [yBfo’ 9D SFT DRVFM?
Options :

|« 006 doorrocisdo

2. & G070 TP

;M SO

4. % TIOCD &FCII0

Question Number : 89 Question Id : 630680362256 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following dances is also known as “dance of warriors”?
Options :

1. % Perini Sivatandavam

2. % Dhoom Dham

3. # Oggu Kathalu

4. ® Chindu Bhagavatham

Question Number : 90 Question Id : 630680362257 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Whose birthday is celebrated as Telangana Language Day?
Options :

1. # Panuganti Telanganarya

2. % Kaloji Narayana Rao

3. # Addanki Gangadha Rao

4. # Kandukuri Rudra

Question Number : 90 Question Id : 630680362257 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
D0 LDQOTe) Berres 2ralr BSSNDOTT BHDEETH?

Options :
P00 BOOTFEFTTy
1. ®

) ¢ TE oAb T

3 % w%ﬁoé (oS T

4 % SOIErd WE

Question Number : 91 Question Id : 630680362258 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following temples in Telangana state has a dargah within the precincts which symbolises religious tolerance in the region?
Options :

1. ¥ Sri Raja Rajeswara Swamy Temple

2. # Sri Chilkur Balaji Swamy Temple

3. # Surendrapuri Temple

4. % Sangameshwar Temple

Question Number : 91 Question Id : 630680362258 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0TTed T°R085°D) 80 O 900D ot DGR’ DS VITTIS PASTT GT° Godd?

Options :
L oo TE30 5“5533 Baore0o

.- 3 DR O PP FD BP0

3 % FO00ENB 3000

4% “&)oﬁaijéso‘*eg cdoo

Question Number : 92 Question Id : 630680362259 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following was built as a ceremonial gateway to celebrate the foundation of Hyderabad at the end of the 16th century?
Options :

1. % Golconda

2. # Toli Masjid

3. # Taramati Baradari

4. % Charminar

Question Number : 92 Question Id : 630680362259 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1653 BEFLLY 200" srcorerd Q‘“B’.)R‘JKJJ 20E DS o0d e DO SO (0o DT DB ocseatod?
Options :

]
L% ﬁeﬁ”bot:f,

40/71



9/12/23, 6:11 PM

5 % B9 Do
3 % TPTPaDE 22070

4 Tﬁéﬁ“‘@

Question Number : 93 Question Id : 630680362260 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TS 2E), &5° &obd.

Options :
1 % O0oried

) #% DeFarerd
3 @ STOTEEO

a:rméo

Question Number : 93 Question Id : 630680362260 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ramoji Film City is located at
Options :

1. ® Warangal

2. % Nizamabad

3. % Hyderabad

4. # Khammam

Question Number : 94 Question Id : 630680362261 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
5 2365 Dweded gDQ 297 ST e90ETPC0).
Options :
. 2.
| % 570§ S"%})oﬁg

) ¢ G5 &%5r sven

_ D6LS 5% Sven

20T DA 50t
4. % ]

Question Number : 94 Question Id : 630680362261 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is also known as bell metal craft.
Options :
1. # Bronze Castings
2. % Dokra Metal Crafts
3. # Nirmal Metal Crafts
4. % Banjara Needle Crafts
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Question Number : 95 Question Id : 630680362262 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S00 TS FrHER 200 HTTEmeS” eberard HdRe B PBS Hydo I

Options :

L P00 Bgo

) % GBS 5o

3 % SorBoir aaejzso

4% ﬁ’i)jﬁ] KJ&@ISO

Question Number : 95 Question Id : 630680362262 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a special dance performed by the tribe of Adilabad during the rainy season of the month of Shravan?
Options :

1. ¥ Mathuri Dance

2. % Dhamal Dance

3. #® Dandaria dance

4. % Gobbi Dance

Question Number : 96 Question Id : 630680362263 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the fort from the given hints.

a) The fort is oval in shape and has two entry points.
b) It is renowned for its outstanding construction and geometric structure.
¢ ) In fact, the fort is entirely impregnable because it is bastioned with fosse.

Options :

1. # Warangal Fort
2. # Kondapalli Fort
3. ¥ Bhuvanagiri Fort
4. % Khammam Fort

Question Number : 96 Question Id : 630680362263 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
QIR APSIO ol Fedn mBocsoc..

a) §' e20t-57060e5" €00 SOOI Goth 0% Sored SO eotnod.
b) rady evogecn Do EEdS Sudetn Barrdd Jo7L DS @i}@ Dofob.

C) DS, Eo Hyomr eIZISFRODE JocHSoE) A S0c3S0e SRE Eod.
Options :
| % Do e

, & Socdd Fe
3 o Z0HN0 B

4 % D)0 ey
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Question Number : 97 Question Id : 630680362264 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following paintings was a combination of Vijayanagar wall paintings and Persian influence with elongated figures and
landscapes with floral backgrounds in Telangana state?

Options :

1. ¥ Deccani Paintings

2. # Kalamkari paintings

3. # Cheriyal Scroll Paintings

4. % Cheriyal Kalamkari paintings

Question Number : 97 Question Id : 630680362264 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 308 TrHeS” BeoTr mvgaé 0220800 HRODJMCe SHE] DTPeD BT HDPOLA Perded TEADD Favyen,
@50&}‘065}06’, ared sondho DovoBofy RS

Options :

L v c:)sbf:) Do0oBofry

) % Se05°0 202008300

. Do 3&6 o200y

A% i:‘bwéé ger05e0 bwo&ﬁoﬁg

Question Number : 98 Question Id : 630680362265 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 39" B DBB Ak 5T V0" SIB DD ?

Options :

L% w%ﬁoé tHoTrPess Sa)
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3 & SOEFD B ED

4 TED TrOROLE SO

Question Number : 98 Question Id : 630680362265 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following poets was NOT in the court of Quli Qutb Shah?
Options :

1. % Addanki Gangadhar Kavi

2. # Panuganti Telanganarya

3. # Kandukuri Rudra Kavi

4. % Kaloji Narayana Kavi

Question Number : 99 Question Id : 630680362266 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which year Mana Ooru-Mana Badi/ Mana Basti-Mana Badi” scheme was launched?
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Options :
1. ¥ 2020
2. % 2021
3. 92022
4. % 2023

Question Number : 99 Question Id : 630680362266 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S0 E-a0 DA/ 20D -2 A" DETDY 2 D033 60eS" Froodozr?

Options :
1. % 2020

). % 2021
3« 2022

4, % 2023

Question Number : 100 Question Id : 630680362267 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

300 TS D 2erd”, DRIOTPE PEDSO 18 2IDO 20230 Sod DAVID OIS AP CoDoDody?
Options :

| % TOTEE

) SD&‘.D%}O

_ ftle; oct

4 % ebererd

Question Number : 100 Question Id : 630680362267 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following districts, the Telangana Government relaunched the Kanti Velugu programme on 18 January 2023?
Options :

1. #® Hyderabad

2. % Khammam

3. ¥ Nalgonda

4. ® Adilabad

Question Number : 101 Question Id : 630680362268 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In how many major hospitals in Hyderabad / Greater Hyderabad Municipal Corporation (GHMC) , Telangana Government has launched
Rs. 5/- per meal programme for attendants of patients as per Telangana Socio Economic Outlook 2023?

Options :
1. % 16
2.9 18
3. %20
4. % 23

Question Number : 101 Question Id : 630680362268 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
DOOTTE V00 JSS THens 2023 P00, 3GTRerd / (6 rETrerd 200Dy 578G (GHMC) &' 22y
DD 0DV Boorre RIS Fbe DIFADHOD O, 5/~ Fad TOEHTD) Jroododody?

Options :
1. % 16

2.« 18
3. ® 20

4. ® 23

Question Number : 102 Question Id : 630680362269 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Beoorres ol ISTTIE THS 2023 P°C0, 2021-22 TS BOTFE T°ROS” ANBO FETVL VoYY Joes?

Options :
| & 41,369

5 % 41396
3 % 41639

4. ® 41963

Question Number : 102 Question Id : 630680362269 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the total number of schools in Telangana state as of 2021-22 as per Telangana Socio Economic Outlook 2023?
Options :

1. ¥ 41,369

2. % 41,396

3. % 41,639

4. % 41,963

Question Number : 103 Question Id : 630680362270 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Deorree Vi JSOS THens 2023 P00, 100 5.5.00.8 BOOTPE DVG0 GaTrd Jroied
Options :

| % 9479 80

5« 97.49 82D
3 % 96.94 80

4 % 98.49 320

Question Number : 103 Question Id : 630680362270 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana has a total road density of for 100 sq km as per Telangana Socio Economic Outlook 2023
Options :

1. % 94.79 km
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2.9 9749 km
3. # 06.94 km
4. % 98.49 km

Question Number : 104 Question Id : 630680362271 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Telangana Government from 30th September 2022 enhanced reservations in the State for STs , for admissions in
educational institutions and services under the State Government.

Options :

1. #® from 5% to 10%
2. % from 5% to 12%
3. % from 6% to 10%
4. % from 6% to 12%

Question Number : 104 Question Id : 630680362271 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BOOTFER DIS0, T°R VIS BE(0[0S"D HTey MoRen &0803w HEGID v PdT Eo 30 DPowd, 2022 Aol
U"agoeﬁé D STes B20HOW D0ob.

Options :
1. % 5% 00k 10% 05

) % 5% f00C 12% 08D
3« 8% ~0ol 10% 050

4. % 8% Dok 12% D08

Question Number : 105 Question Id : 630680362272 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The paddy production in the Telangana State has increased by between 2015-16 and 2021-22 as per Telangana Socio Economic
Outlook 2023

Options :

1. % 324%
2.9 342%
3. % 352%
4. % 325%

Question Number : 105 Question Id : 630680362272 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BeoTres Fadir SIS eosens 2023 HPS°00, 2015-16 SOOI 2021-22 QG BOOTTED U";ﬂ]oﬁ‘jﬁ D0 &G
06000, N

Options :

| % 324%
0 o 342%
3 % 352%
4 % 325%

Question Number : 106 Question Id : 630680362273 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

300 PEONOS® b B
Options :
DT U‘*@o 2022-23 DF§ VoSG0 Aol ) PIDAQ FTTOH” HOT AT B0 RSB,

) % "KCR arginad 86 e §¢ seojgano 2112, 20225 PCodocsdod.
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4 B0 DIDERO 202085° "GP 200" HPDFDHOA.

Question Number : 106 Question Id : 630680362273 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is INCORRECT?

Options :

1. ¥ The Telangana State has announced English as a medium of instruction in all Government Schools from the academic year 2022-23.
2. % A new initiative called “KCR Nutrition Kit" was launched on 21.12.2022

3. ® “SC/ST Special Development Fund Act” was enacted in 2017 in Telangana.

4.+ The Telangana Government introduced “Dalit Bandhu” in 2020.

Question Number : 107 Question Id : 630680362274 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During which period the people of Telangana region in Hyderabad state, started organizing themselves with a demand for separate state?
Options :

1. ® In early 1940s

2.+ In early 1950s

3. # In early 1960s

4. # In early 1970s

Question Number : 107 Question Id : 630680362274 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TETIrS TRes’D Bootre Jrod HRen D Tood” PRS TR ool d DolnddanosEd?
Options :

| % 19400 grooZioes

5 @ 1950 © P 6085085°
5 % 19600 Fdozioes”

4 % 19700 FrGozsoss’

Question Number : 108 Question Id : 630680362275 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year the States Reorganization Commission (SRC) submitted its report and recommended formation of Telangana state?
Options :

1.+ 1955

2. % 1957

3. % 1959
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4, % 1953

Question Number : 108 Question Id : 630680362275 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2 ‘:(3063@300656 oo @aoséa?gsdea $200R (SRC) 82 IDHSR 08y 0D BooTre T°g Doobemsa DaroiD Do

Options :
1.« 1955

). % 1957
3 % 1959

4, % 1953

Question Number : 109 Question Id : 630680362276 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DS Boorre ToHo §do DEEgEHD 2 R0 B0S” DEDJD DPEI00 FF?

Options :
| % 1967

)« 1969
3. % 1971

4. % 1973

Question Number : 109 Question Id : 630680362276 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year students intensified the protests for a separate Telangana state?
Options :

1. ® 1967

2.9 1969

3. % 1971

4. % 1973

Question Number : 110 Question Id : 630680362277 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who amongst the following was NOT a member of the States Reorganization Commission (SRC) appointed by Indian government in 1953
to look into various statechood demands in the country?

Options :

1. #® Fazal Ali

2. % K. M. Panikkar
3. % H.N. Kunzru
4.+ H. C. Heda

Question Number : 110 Question Id : 630680362277 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 D°BS° IDH B80S DD TR AT HBFDoBocHLD 19536 268 HEDEBLO DODLIVEDD Tgre
@adsﬁafgsma S0 (SROS® by sees?

Options :

48/71



9/12/23, 6:11 PM

| w Dad od

) % K. M. t.‘:»;’)gbﬁ

4 ATFORETCE

Question Number : 111 Question Id : 630680362278 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Eight boys - B1, B2, B3, B4, B5, B6, B7 and B8 are sitting around a circular table facing towards the centre (not
necessarily in the same order). B is to the immediate left of B1. B8 is neither the neighbour of B5 nor of B4. B6 is to
the immediate right of B2. B7 is the immediate neighbour of B5. B3 is the immediate neighbour of both B5 and B6.
Which of the following is correctly matched?

I | Immediate right of Bl is | B4
II | B5 is immediate left of 2 B3
IIT | Opposite of B8 is 3 B2

Options :

1.+ 1-3, 1I-1, 111-2
2. % 12, 1I-1, 11I-3
3. % 1.2, 11-3, 11I-1
4, % 1-1,11-2, 1I-3

Question Number : 111 Question Id : 630680362278 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B1. B2, B3, B4, Bs. Be, B7 2060800 Bs @93 2006 006 e9ary0nen 9T 570 2y tolr

SogrdaaorT Sred &) 6 (BN B8 $20065° &orrdyd wIB60 Taw). Bs @ weryow Bi @
S50 DED DIDD &) 0. Bs @9 weryaw Bswo 0 Sor Bas 5D Fdorkd T 5o, Ba
SLe0Dd DE DD Be &7y co. Br @D waryaw Bs aiws) S0 T, Ba ewd eve3yo0 Bs
208050 Be © 2508 355 T, 08 TES” D& LM adHSBRES.

| | Bl e weryon ___ 8 SE6 SHEDD) &™) O 1| B4

11| B &9 eeryow ___ ) 956 JEDODR) &™) 6O 2| B3

11 | B8 &9 eeryon ___ ) G0 &) 69 3| B2
Options :

1. ¥ 1.3, 1I-1, 1112
2. % 1.2, 1I-1, II-3
3. % 1.2, 11-3, I1I-1
4. % 1.1, 11-2, 11I-3

Question Number : 112 Question Id : 630680362279 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Eight friends — A, B, C, D, E. F. G and H are sitting around a square table facing the Centre. They sit in such a way that
four of them sit at four corners of the square while four sit in the middle of each of the four sides. Only H sits between A
and F. A sits in the middle of one of the sides. D sits third to the right of F. Both G and H are immediate neighbours of

A. B sits second to left of C. Which of the following is correctly matched.

I | Opposite of C is 1 D
II | Diagonally Opposite of Gis | 2 E
III | Immediate left of C is 3 F

Options :

1. % 1-3, 11-2, 11I-1
2. ® 12, 1I-1, I11-3
3. % 12, 11-3, 11I-1
4. % -1, 11-2, I11-3

Question Number : 112 Question Id : 630680362279 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A B,C D E F G 26030 H 25 2008 H00d fal.’b“ejow 208 BIOETT LY 2V S b
SomrdAanadonT ST ). BSVETSTE DY TPRDM HVG” HeMIE SR oL, TRV DY
2065e5° DM Erddyoerd. A 208akn F o 206y H 2rady srdoyTe) co. A 208 D3 206§’
SrdoyT) o, F ciog), 06 21 Sordd .gvaoes“ D grdoyTey 6. G dndosino H en ager A aing)
g8 LT, CH IEDDY) Tokd gﬂboéﬁa B Src0 ) 6. $08 8BS DO RO adhoBRcod.

I c@éfolﬁju@am_aam &™) 6D 1 D

1| Gesd ?oblﬂjumm —_ ) Dsgorre DT &Y | 2 E

LI | Ceod yaresnch ) 9&es Jetad Ps) &) | 3 | F

Options :

1.+ 1-3, 11-2, 11I-1
2. % 12, 1I-1, 11I-3
3. % 1.2, 11-3, 11I-1
4, % 1-1,11-2, 1I-3

Question Number : 113 Question Id : 630680362280 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R1, R2, R3, R4, R5 S08A50 R6 @ 6050 e3me0y 208 S0 6 3B 55 Fae0eS” Fe0arS0 A0S NG
FAT B0 HBEY HATETR. 2,8 B2 &) RWK 3T DETBE. RS 08050 R6 € 385 28 3 S35 add
DETENECR. R3 5T 565 o) SENTCR DAOTH. R3 $DEAM R6 © o055 2,8 MR 305530 DTS . R5 &9
€8T R6ZD 300N 308050 R1 650" §6% HATEARTCR. R6ZD 00D R4 DT . €8 Ssa’@s 0B 8Ty
DB (ES0 eI

Options :

1. ¥ R1, R5, R4, R6, R2, R3

2. % R2, R5, R4, R6, R1, R3

3. % R6, R5, R4, R1, R2, R3

4. % R1, R6, R4, RS, R2, R3

Question Number : 113 Question Id : 630680362280 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
6 players R1, R2, R3, R4, R5 and R6 run on 6 different days of a week starting from Monday to Saturday. No two players run on the same
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day. Only one player runs between R5 and R6. No player runs after R3. Only one player runs between R3 and R6. R5 runs before R6 and
after R1. R4 runs before R6. What is the correct order of all players over days?
Options :
1. ¢ RI1, RS, R4, R6, R2, R3
2. % R2,R5, R4, R6, R1, R3
3. % R6,R5,R4,R1, R2, R3
4. % R1,R6,R4,R5,R2, R3

Question Number : 114 Question Id : 630680362281 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D% £ (DFEINEN B £ITTOW, €8 (HEELSE STTSOMT EQY BTN Q9 SDF°0N. VD) (HEEISE
SO BOVS FRTOZ0 D5 O €5e5) €D eIDODEDYE3E 57¢3Q RS0 HONF0TO. @) DEST e
O, BRI BT DA @650 8 5ES (HDEEIO ©HIEITI® AYon0I0&.

DEerSen:
1. Q) DI B0)&.
11 §) arS )8 0 )e0.

DB SIS 0:

L 3r3 ) @) B2d)&.

IL 320)0 ) DAIEW.

Options :

1. % DS5T0 1 83575 add @ DIEN0H

2. % HSG5OTS0 1T S35 @ DIEN0H

3. % 10005 I BOD DS e €900
4.9 Q DBFIS0 EcE 9 NIB0IBD

Question Number : 114 Question Id : 630680362281 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. All Pencils are Rubber.
II. Some Sharpeners are Pencil.

Conclusion:
1. All Sharpeners are Rubber.
I1. All Rubbers are Pencil.

Options :

1. # Only conclusion I follows

2. # Only conclusion II follows

3. # Both conclusions I and II follow

4. % Neither conclusion follows

Question Number : 115 Question Id : 630680362282 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D% §Q), (DFEINN B §ITTOW, €8 (HEEISE STBOMT EQY, BT e R SDF°00. D) (EEISEN
B0 BOVD TATOR YO €505 €D 9DODEDYE3E s7¢3Q TR0 HBHEF0TTO. @) DB ST
O, BRI BT D 00T 9 5B (HEEI OOV TI® AYowo0b.

DESen:
L&) §Sen ReSew.
IL R A @ D) & 5°¢.

DB SIS 0:

L Q) 5D D) %Y.
IL §) D) E 5°¢%.
1L D3I .
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Options :
1. % 11308050 I BOK DGR o35°(had €9 DOB0mw
2. % Q) DE5IS0 8t @080
3. % DB @) 9 NIBI0N
4.9 T 08050 11 BOCK DB S°(553) @ DOOT AN

Question Number : 115 Question Id : 630680362282 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. Some phones are plates.
II. No plate is short.

Conclusion:

1. Some phones are not short.
II. Some shorts are not plate.
III. All shorts are phone.

Options :

1. # Only conclusions II and III follows
2. % Neither conclusion follows

3. % All conclusion follows

4.+ Only conclusions I and II follows

Question Number : 116 Question Id : 630680362283 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D% §Q) (DFEINEN B £ITTOW, € (HEELSE STTSOMT §QY, BTN RS SDF°ON. BD)S (EEISE
SO SOV FPRTFOI0 D5 0P €5e5) €D eJDODSD Y38 57¢3Q TS0 HOXF0TO. @) DEST D
O, AR IS DEEITOS DA &0 9 52 (HEEI ©HOEFTI® APYonoI0s.

D& Sen:
Led) AenQen.
1L §0) Q e R e.

DB SIS 0:

LR & 8 A 5.

1. Q & e A 5°¢%.

L Q D& 85 R 5°¢%.

Options :

1. % D855S0 T (8953 @90 0BN0H

2. % I1e00050 I BOER DB IR €9c0OET° 00
3.9 Q DE5ITS0 S5t @980

4. % 106050 I BOCY DB IR €9:dOET° 00

Question Number : 116 Question Id : 630680362283 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. All A are Q.
II. Some Q are R.

Conclusion:
I.NoRis A.
II. No Q is A.
III. No Q is R.

Options :

52/71



9/12/23, 6:11 PM

1. % Only conclusion I follows
2. ¥ Both conclusions II and III follows
3. % Neither conclusion follows

4. ¥ Both conclusions I and III follows

Question Number : 117 Question Id : 630680362284 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
1. All W are P.
II. Some P are A.

Conclusion:

I. Some A are not W.
II. Some P are not W.
III. Some W are P.

Options :

1. % Only conclusion III follows

2. % Both conclusions II and III follows
3. ® Both conclusions I and I1I follows

4. % All conclusion follows

Question Number : 117 Question Id : 630680362284 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D% £, (DFEINN B TN, €8 [HEEISE SFBOMT §QY, BT e A% FDF°O0. D) (HEEISE
B0 BOVD TATOR YO €509 €D 9DODEDYE3E a7¢3Q TR0 HAHEF0TTO. @) DB ST O
5O, BD IS BT D 00T B 5ES (HEEI @HHOITI® AYowoi0d.

DESen:
. Q) W e P ew.
IL §Q) P e A en.

DB SIS 0:

LAY AW S).

IL §Q), P e W 5°).

M1 §Q) W e P ew.

Options :

1. ¥ D0 T 537533 @ DIENOE

2. % 1108050 I BOCK DB FITT®EN €9cdOET 00
3. % 100050 I BOED DS eI €9 0ON"OW
4. % HELIIEN Q) ©IOT 0N

Question Number : 118 Question Id : 630680362285 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%5 AN 5ES (D%, DS KTFOE $E3S (16> D0OTTEN [DEEISE TIPHTFT . S8 (DEEISE SHT°5¢b BO
DB LTI Q) FRF°ON. ITPTTR0 Qe §O:

DS e:
LK<E>B=A,N>K>O=F

DY gdroren:
LE>F
ILE>F

Options :

1. % DE5ITS0 I S(ehadd D230 000

2. ¢ DSRS0 I S ehadd D230 000

3. % DB5TS0 1 5°Q Br° DBITS0 11 5°Q D& Q230 S0 S
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4. % T 00050 11 BO DS IHTTeeN A NS

Question Number : 118 Question Id : 630680362285 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the question given below, relationships between different elements are shown in the statements. These statements are followed by two
conclusions. Give answer:

Statements:
LK<E>B=A,N>K>O=F

Conclusions:
ILE>F
ILE>F

Options :

1. # If only conclusion I is true

2. % If only conclusion II is true

3. # If neither conclusion I nor conclusion II is true

4. # If both conclusions I and II are true

Question Number : 119 Question Id : 630680362286 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A,B,C,D,E, F, G 8050 H &9 8 5008 €925°)006 5000 812200, D 000 C 0T %038 5°0) E 0T
50265, B 5AH0) BB ©0237)000 0T ¢880.85. C, D sHOGM E © SO0 H 80T D808 5°0) F 80T $%03.83. F
N0 B FOT Q8025 52 08O BEY 3500 57¢30. A 83000 B8R0 57¢30. 878 5000 )@ B0 d) (E00
DE3?

Options :

1. #* H<C<D<E<F<G<A<B

2.%# EXC<D<H<F<B<A<G

3. H<C<D<E<F<B<A<G

4. % H<C<D<E<A<B<F<G

Question Number : 119 Question Id : 630680362286 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Age of 8 boys A, B, C, D, E, F, G and H is compared. Age of D is greater than C but less than E. Age of B is less than only two boys. Age
of C, D and E is more than H but less than F. Age of F is neither more than B and nor equal to B. Age of A is not the maximum. What is
the increasing order of their age?

Options :

1. ¥ H<C<D<E<F<G<A<B
2.# EXC<D<H<F<B<A<G
3. H<C<D<E<F<B<A<G
4. # H<C<D<E<A<B<F<G

Question Number : 120 Question Id : 630680362287 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2,8 D0 1 )FAN (33 WS DB0E. €8 (33 JP8 TR OB (D&5e30) AP RS S22 D)5 Hod
DONE0A.

SP, SO, SN, SM, ?
Options :

1. ¥ SL

2. % SM

3. % ST

4. % SR

Question Number : 120 Question Id : 630680362287 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
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SP, SO, SN, SM, ?
Options :

1. ¥ SL

2. % SM

3.% ST

4. % SR

Question Number : 121 Question Id : 630680362288 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

300 08 S5’ 05 @5 T° 08 YY) OFT O 563 s EOBD eF S 23652 (D0 DI SN
&FOS") “CARROT” @& D50 D) ) 002

Options :

1. |

2.% 2

3.%3

4. % 4

Question Number : 121 Question Id : 630680362288 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many pairs (in ONLY forward counting) of letters are there in the word, “CARROT” which have as many letters between them as in
the word as in the English alphabetical order?

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 122 Question Id : 630680362289 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0 D0 9 HBE0 B 0TS HBI JBHEF0TIOE. B TZNEY DCHD ) N0 23D HoP O FIOS A, 3e0
ge>a)?

253889633575204369543333253821357889689633
Options :

1.¥6

2.% 5

3.%7

4. % 8

Question Number : 122 Question Id : 630680362289 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the string given below made up of numbers from 0 to 9. How many 3’s are present at the odd numbered positions from the left of
the string?

253889633575204369543333253821357889689633
Options :

1.¥6

2. %5

3.% 7

4. % 8

Question Number : 123 Question Id : 630680362290 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2,5 D0 §& 273, ‘TRAILS’ Q 'ILSTRA' @Q (0. @8 §6 23S’ ‘“TORQUE S 0> 86 De3?
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Options :
1. ¥ QEUROT
2. % QEUTOR
3. % QUEROT
4.+ QUETOR

Question Number : 123 Question Id : 630680362290 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘TRAILS’ is written as ‘ILSTRA’. What is the code for ‘TORQUE’ in that code language?
Options :

1. ¥ QEUROT

2. % QEUTOR

3. % QUEROT

4.+ QUETOR

Question Number : 124 Question Id : 630680362291 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 D0 §& oA, ‘CATCH’Q 30250°TP, ‘CHEAP’Q 24703°TF, ‘CLEAR’ ‘902871 ", &8 §& 23S ‘H’S0 o §&
De3?

Options :

1. %2

2.%5

3.43

4. %0

Question Number : 124 Question Id : 630680362291 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘CATCH’ is written as ‘30250°, ‘CHEAP’ is written as ‘24703, ‘CLEAR’ is written as ‘90287°. What is the
code for ‘H’ in that code language?

Options :
1. %2
2.% 5
3.3
4.% 0

Question Number : 125 Question Id : 630680362292 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R0 98 8 D0, BOCHD ©9F. 80 HersItAE H020E0RS VPO, ©eroed Ho0GE) §OA &) e
& YO 2350 (305°¢83 €98 DX 0: 7S @8 & H0I%T0) JOTHEOR.

OB:LY ::?
Options :

1. ® EF : GH
2. % NA : KX
3. % NO:LM
4. % 7Y : IV

Question Number : 125 Question Id : 630680362292 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select that missing pair (Third letter cluster : Fourth letter cluster) which is related in the same way as the first letter cluster is related to the
second letter cluster.

OB:LY ::?
Options :
1. ® EF : GH
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2. ¥ NA : KX
3. ¥ NO: LM
4. % ZY IV

Question Number : 126 Question Id : 630680362293 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, four letter pairs are given. The letters on left side of () is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ¥ UW-0Q
2. % EQ-YK
3. % OA-1U

4. % OE-1A

Question Number : 126 Question Id : 630680362293 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D%, e 0F T 2365 RS SDTOW. (—) TBVE) 8 DI &), @E TN () TBEY o0& DS &),
€98 T B §0ed ) 0/Q0000/022050 HODOGTY, EOR GOLFON. 2,3 5833 0/0N0/KND00H0 eSTFSOmT
SB07C8) 2,3 EOLTON. YD) (DEF5e357) OS5 QO ) O &)Y DOTNTOR.

Options :

1. ¥ UW-0Q

2. ¥ EQ-YK

3. % OA-1IU

4. % OE-1A

Question Number : 127 Question Id : 630680362294 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (D%, BDIS FSS” 7 Y& Do JoTHE 0.

10, 10, 17, 43, 106, ?
Options :
1. % 230
2. % 225
3. % 228
4. % 238

Question Number : 127 Question Id : 630680362294 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the missing number from the given series.

10, 10, 17, 43, 106, ?
Options :
1. ¥ 230
2. % 225
3. % 228
4. % 238

Question Number : 128 Question Id : 630680362295 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If60 @3 *5=15and 50 @ 5*2=8,then80 @4 *4="
Options :

1.¥ 16

2. %19

3. %22
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4. % 25

Question Number : 128 Question Id : 630680362295 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
GO@3+5=1520000050@5+2:=8e003,80@ 4 *4 =7
Options :

1.¥ 16

2. %19

3.% 22

4. % 25

Question Number : 129 Question Id : 630680362296 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
By interchanging which two numbers (not digits) the equation will be correct?

7-5Xx44+8+2=-1
Options :

1. % 4and 8

2. % 7and5

3. % 4and 7

4.9 4and 2

Question Number : 129 Question Id : 630680362296 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2 Tocw ;bospise.::éo (oS s°C0) DERyCo ard:’cio SN Hogse0 RBAE ¥ NBVL?

7-5X4+8~+2=-1
Options :

1. % 4805 8

2. % 708350 5

3. % 4 0805 7

4. 4 08350 2

Question Number : 130 Question Id : 630680362297 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The table given below shows the number of boys and girls in 7 different schools.

School Boys Girls
J 52 36
K 40 30
L 60 80
M 90 100
N 45 55
P 35 65
Q 25 28

Which of the following statement is NOT correct?
I. The ratio of the total number of boys in I, K and L to the total number of girls in N, Pand Q is 37 : 38,

II. The average number of boys in L and M is 62.5 percent of the average number of girls in N and P.

Options :
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1. % Only I
2. % Only II
3. ¥ Both I and I
4. # Neither I nor IT

Question Number : 130 Question Id : 630680362297 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BAD RDRIED DS 7 DT FoTS D arendd 083w rdsy SEEETN SO LN

PoLlod) arend® | erdgen
J 52 36
i 40 30
i 60 80
i 90 100
N 45 55
i 35 65
Q 25 28

308 TredeS” D03 SIS &?

. J, K 208080 L 0&5°d 30do erend Doy <0dain N, P 208cin Q 06°) awdo erdse Doy
D06 (0 DD 37 : 38.

[l L 2068030 M ee5° aend e oz N 20805 P 0e5°D erdge Hrew “aoa:59.36 625 Toho SO
Options :

IR NS

2. % 1 S°(¢hodd

3.9 10805 1T e Bochw

4. % 520 S 115 O 3¢

Question Number : 131 Question Id : 630680362298 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

sky is pink.
Options :
1. ®¥ a
2. % an
3. ¥ the

4. % No article

Question Number : 131 Question Id : 630680362298 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

sky is pink.
Options :
1. % a
2. % an

3. ¥ the
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4. ® No article

Question Number : 132 Question Id : 630680362299 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I can’t leave my home without praying to God.
Options :

1. % a

2. % an

3. # the

4. % No article

Question Number : 132 Question Id : 630680362299 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I can’t leave my home without praying to God.
Options :

1. % a

2. % an

3. % the

4. % No article

Question Number : 133 Question Id : 630680362300 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Each of these books its own self-help book.
Options :

1. ® have

2. % has

3. % had

4. % are

Question Number : 133 Question Id : 630680362300 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Each of these books its own self-help book.
Options :

1. ® have

2. % has

3. % had

4. ® are

Question Number : 134 Question Id : 630680362301 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She one donut every day.
Options :

1. # eaten

2. % eating

3. # eat

4. ¥ eats
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Question Number : 134 Question Id : 630680362301 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She one donut every day.
Options :

1. # eaten

2. # eating

3. % eat

4. ¥ cats

Question Number : 135 Question Id : 630680362302 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

The lawyer will be seen you in an hour’s time.
Options :

1. ® The lawyer will

2. ¥ be seen you in

3. # an hour’s time.

4. % No error

Question Number : 135 Question Id : 630680362302 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

The lawyer will be seen you in an hour’s time.
Options :

1. # The lawyer will

2. ¥ be seen you in

3. # an hour’s time.

4. ® No error

Question Number : 136 Question Id : 630680362303 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

The college is being closed for spring break.
Options :

1. # The college is

2. % being closed

3. % for spring break.

4. ® No error

Question Number : 136 Question Id : 630680362303 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

The college is being closed for spring break.
Options :

1. #® The college is

2. ¥ being closed

3. # for spring break.

4. % No error
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Question Number : 137 Question Id : 630680362304 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0

0

Match the following idioms in List A with their meanings in List B.

A

B

(1) | Draw the line (i)

Not as easy as it appears to be

(2) | Easier said than done | (ii)

To stop before a point where something okay

gets not okay
(3) | Break a leg (iii) | In an unlucky situation
(4) | Up a creek withouta | (iv) | Saying good luck to someone
paddle
Options :

L (1) = (ii); (2) = (0); (3) — (iv); (4) — (i)
2. % (1) = (ii); () = (iii); (3) = (iv); (4) = (i)
3.8 (1) = (ii); (2) = (iid); 3) — (i) () — (iv)
4% (1) (iii); (2) - (iv); 3) = (1); (4) — (i)

Question Number : 137 Question Id : 630680362304 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following idioms in List A with their meanings in List B.

A B
(1) | Draw the line (i) | Not as easy as it appears to be
(2) | Easier said than done | (ii) | To stop before a point where something okay
gets not okay
(3) | Break a leg (ii1) | In an unlucky situation
(4) | Up a creek withouta | (iv) | Saying good luck to someone
paddle
Options :

L9 (1) = (iD); (2) = (0); (3) — (iv); (4) — (i)
2. % (1) = (ib); (2) = (iid); 3) = (iv); (4) — (D)
3.8 ()= (i); (2) = (iii); (3) = (1); (4) = (iv)
4. % (1) = (ii); (2) = (iv); (3) — (i) (4) — (i)

Question Number : 138 Question Id : 630680362305 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following idioms in List A

with their meanings in List B.

A B
(1) | Give it a whirl (i) | A life filled with excitement
(2) | Fish out of water (ii) | To make an extra effort
(3) |Inthe fast lane (iii) | To be out of your comfort zone
(4) | Go the extra mile (iv) | To give something a try

Options :
L% (1) = (iD); (2) = (0); 3) = (iv); (4) — (i)
2.9 (1) = (iv); (2) = (iii); (3) = (i); (4) — (i)
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308 (D)= (ii); (2) - (iid); (3) = (0); (4) = (iv)
4. % (1) = (iiD); (2) = (iv); 3) = (); (4) - (i)

Question Number : 138 Question Id : 630680362305 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following idioms in List A with their meanings in List B.

A B
(1) | Give it a whirl (i) | A life filled with excitement
(2) | Fish out of water (ii) | To make an extra effort
(3) | In the fast lane (iii) | To be out of your comfort zone
(4) | Go the extra mile (iv) | To give something a try

Options :

L% (1) = (ii); (2) = (i); (3) — (iv); (4) — (iii)
2.9 (1) = (iv); (2) — (iii); (3) — (i); (4) — (ii)
3.% (D) - (ii); (2) - (iiD); (3) = (1); (4) — (iv)
4. % (1) = (iii); (2) = (iv); (3) = (0); (4) — (ii)

Question Number : 139 Question Id : 630680362306 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair of proverbs is correct?

I. There is no time like the present/ Don’t wait to do something. Do it now.
II. Like father, like son/ Don’t make plans based on events that haven’t happened

Options :

1. ¥ Only I

2. % Only II

3. % Both I and IT
4. # Neither I nor II

Question Number : 139 Question Id : 630680362306 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair of proverbs is correct?

I. There is no time like the present/ Don’t wait to do something. Do it now.
II. Like father, like son/ Don’t make plans based on events that haven’t happened

Options :

1. % Only I

2. % Only II

3. % BothIand Il
4. # Neither I nor IT

Question Number : 140 Question Id : 630680362307 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair follow the word — synonym relation?

I. Rigorous — Easy

II. Indict — Stingy

III. Crisis — Cloudy

IV. Adversity — Misfortune

Options :

1. # Only I

2. % Both T and II
3. % LI, [l and IV
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4. % Only IV

Question Number : 140 Question Id : 630680362307 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair follow the word — synonym relation?

1. Rigorous — Easy

II. Indict — Stingy

II1. Crisis — Cloudy

IV. Adversity — Misfortune

Options :

1. * Only I

2. % Both I and II
3. % [ 1L, [l and IV
4. % Only IV

Question Number : 141 Question Id : 630680362308 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following words in List A with their synonyms in List B.

A B
(1) Fanciful (i) Heaven
(2) Perpetuate (i) Unreal
(3) Bliss (iii) | Slump
(4) Recession (iv) | Celebrate

Options :

L% (1) - (ii); (2) = (i); (3) = (ii); (4) — (iv)
2. % (1) = (ii); (2) - (iid); 3) — (@); (4) — (iv)
3.9 (1) —(ii); (2) — (iv); (3) — (0); (4) — (i)
4. % (1) - (i); (2) = (i); (3) — (ii); (4) - (iv)

Question Number : 141 Question Id : 630680362308 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following words in List A with their synonyms in List B.

A B
(1) Fanciful (i) Heaven
(2) Perpetuate (ii) Unreal
(3) Bliss (iii) | Slump
(4) Recession (iv) | Celebrate

Options :

L% (1) - (iid); (2) = (i); (3) - (ii); (4) — (iv)
2. % (1) (ii); (2) — (iii); (3) — (1) (4) — (iv)
3.9 (1) —(ii); (2) = (iv); (3) — (0); (4) — (iii)
4. % (1) = (i); (2) = (0); 3) = (iii); (4) — (iv)

Question Number : 142 Question Id : 630680362309 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following words in List A with their synonyms in List B.

A B
() Pretentious (1) Loyal
(2) Devout (ii) | Leverage
(3) Influence (iii) | Grandiose
(4) Infrequent (iv) | Sporadic

Options :

L (1) = (iii); (2) — (i); (3) — (ii); (4) — (iv)
2. % (1) - (id); (2) - (iid); (3) — (1); (4) — (iv)
3.% (D)= (1) (2) = (Q); (3) — (iii); (4) - (iv)
4. % (1) - (iD); (2) - (0); (3) — (iii); (4) - (iv)

Question Number : 142 Question Id : 630680362309 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following words in List A with their synonyms in List B.

A B
(1) Pretentious (i) Loyal
(2) Devout (ii) | Leverage
(3) Influence (iii) | Grandiose
(4) Infrequent (iv) | Sporadic

Options :

L ¥ (1) = (iid); (2) - (1); (3) = (id); (4) — (iv)
2. % (1) = (ii); (2) - (iid); (3) = (); (4) — (iv)
3. % (1)~ (i); (2) - (ii); 3) — (iii); (4) — (iv)
4. % (1) - (id); (2) - (0); (3) — (iii); (4) - (iv)

Question Number : 143 Question Id : 630680362310 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following sentences is spelled correctly?

I. She had been through the Academy and gave a pupil’s concert every year.
II. She had put aside as much as she could for months, with this result.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor IT

Question Number : 143 Question Id : 630680362310 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following sentences is spelled correctly?

1. She had been through the Academy and gave a pupil’s concert every year.
I1. She had put aside as much as she could for months, with this result.

Options :
1. % Only I
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2. % Only II
3. % Both I and II
4. % Neither I nor IT

Question Number : 144 Question Id : 630680362311 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following sentences is spelled correctly?

I. But I waive the biographies of all other scrivenners for a few passages in the life of Bartleby.
II. T had two persons as copytists in my employment, and a promising lad as an office-boy.

Options :

1. % Only I

2. % Only II

3. % Both I and IT
4. ¥ Neither I nor IT

Question Number : 144 Question Id : 630680362311 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following sentences is spelled correctly?

I. But I waive the biographies of all other scrivenners for a few passages in the life of Bartleby.
II. I had two persons as copytists in my employment, and a promising lad as an office-boy.

Options :

1. # Only I

2. % Only I

3. # BothIand II
4. ¥ Neither I nor IT

Question Number : 145 Question Id : 630680362312 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following phrase in List A with their one-word substitution in List B.

A B

(1) | Granary | (i) |mumber of animals kept together

(2) | Hamlet | (ii) | a storehouse or repository for grain

(3) | Herd (iii) | a person who engages in any activity for pleasure

(4) | Amateur | (iv) | a small village

Options :

L% (1) - (iii); (2) - (iv); (3) = (ii); (4) — (D)
2. % (1) (ii); (2) — (iii); (3) — (1) (4) — (iv)
3¢ (1) = (iD); (2) = (iv); (3) = (D); (4) — (i)
4. % (1) = (iD); (2) = (0); 3) = (iv); (4) — (i)

Question Number : 145 Question Id : 630680362312 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following phrase in List A with their one-word substitution in List B.

A B

(1) | Granary | (i) |mumber of animals kept together

(2) | Hamlet | (ii) | a storehouse or repository for grain

(3) | Herd (iii) | a person who engages in any activity for pleasure

(4) | Amateur | (iv) | a small village

Options :

L% (1) - (iii); (2) - (iv); 3) - (ii); (4) — (D)
2. % (1) - (ib); (2) - (iid); 3) — (1); (4) — (iv)
3.9 (1) — (ii); (2) = (iv); (3) — (i); (4) — (iii)
4% (1) - (i) () — (D 3) — (iv); (4) — (iii)

Question Number : 146 Question Id : 630680362313 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following phrase in List A with their one-word substitution in List B.

A B

(1) | Rhetoric (i) | to emit a hollow and loud animal cry

(2) | Sculptor | (ii) | a retailer of flowers or ornamental plants

(3) | Florist (iii) | the undue use of exaggeration or display
(4) | Bellow (iv) | a person who practices the art of sculpture
Options :

L (1) = (iii); (2) = (iv); (3) = (ii); (4) — (D)
2. % (1)~ (iv); (2) = (iii); (3) — (D) (4) — (i)
3% (1)~ (i); (2) — (ii); 3) — (iv); (4) — (iii)
4. % (1) - (i); (2) = (iv); (3) - (ii); (4) - (D)

Question Number : 146 Question Id : 630680362313 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following phrase in List A with their one-word substitution in List B.

A B

(1) | Rhetoric (i) | to emit a hollow and loud animal cry

(2) | Sculptor (i) | a retailer of flowers or ornamental plants

(3) | Florist (iii) | the undue use of exaggeration or display
(4) | Bellow (iv) | a person who practices the art of sculpture
Options :

L& (1) - (iii); (2) - (iv); (3) — (ii); (4) - ()
2. % (1)~ (iv); (2) = (iii); (3) — (D) (4) — (i)
3% (1) - (); (2) — (ii); (3) — (iv); (4) — (iii)
4% (1)~ (i) (2) — (iv); 3) — (iii); (4) — ()

Is Section Default? : null

67/71



9/12/23, 6:11 PM

Question Id : 630680362314 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (147 to 150)
Read the following information carefully and answer the given questions.

The world as we know it today is almost inconceivable without the rich and
colorful landscapes created by plant life. Among them are flowering plants,
or angiosperms. which are by far the most diverse and abundant group of
plants, making up over 80% of all known species, including all our staple
food crops.

But the world was not always like this. There was a time when plant life
was almost exclusively green. Then. in the time of the dinosaurs. the world
burst magnificently into bloom.

Flowers blessed our environment with chromatic vibrancy, but they also
upturned food chains and elbowed out their nonflowering predecessors.
Little is known about how ecosystems reacted to this sudden blossoming.
But now, a tiny beetle, preserved in amber for 99 million years, has
provided a wvaluable clue about how insects first began nourishing
themselves on a colorful new platter of plants.

While there are debates about when exactly angiosperms originated. there
is a little quarrel that they first became diverse in the Early Cretaceous,
around 125 million years ago.

It is believed that the explosive radiation of angiosperms that displaced the
gymnosperms — the incumbent. flowerless champions of the plant world —
caused unprecedented upheaval in terrestrial ecosystems. changing the
food chain at all levels from the herbivores to their predators.

The largest remaining group of gymnosperms are the conifers, such as
pines and cypresses. Many gymnosperms are pollinated by wind. although
some produce sugar-containing pollination drops. such as fern-like cycads,
which maintain an ancient relationship with beetles. Flowering angiosperms
quickly outcompeted most gymnosperms with their colorful and scented
galleries, which advertised their nectar to attract pollinators.

Yet we know very little about the life of the earliest angiosperms. Most
Cretaceous flowers have been recovered from burnt remains converted to
charcoal, making reconstructions of how they looked a rare and difficult
task. Scientists have also studied living angiosperms to try to reconstruct
what the world’s first flower might have looked like.

The pollinators of these early flowers have remained shrouded in a further
layer of mystery. Today., over 80% of angiosperms depend on insects,
such as bees and day-flying butterflies, to pollinate them. But these groups
were either not present or not diverse in the Cretaceous.

Sub questions

Question Number : 147 Question Id : 630680362315 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What caused unprecedented upheaval in terrestrial ecosystem?
Options :

1. # Displacement of gymnosperms

2.+ Explosive radiation of angiosperms

3. # Sudden change in food chain

4. ® Extinction of dinosaurs

Question Number : 148 Question Id : 630680362316 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement(s) from the following.

I. Gymnosperms are flowering plants.
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II. Angiosperms receives more pollination than gymnosperms.
III. There is a vast information available about the angiosperms in the cretaceous period.

Options :

1. % Iand II

2. % Only I1I
3.4 Only I

4. % 1,1l and 11

Question Number : 149 Question Id : 630680362317 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What made it difficult for scientists to identify the physical appearance of earliest angiosperms?
Options :

1. ¥ Living flowers of angiosperms were different from the earliest one.

2. % Most of the flower remnants got converted into charcoal.

3. # There were no evidences available regarding their existence.

4. % Only sample of gymnosperms flower were available.

Question Number : 150 Question Id : 630680362318 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following words is the most opposite in meaning to the word - ‘shrouded’ as used in the passage?
Options :

1. ¢ Divulged

2. % Camouflaged

3. # Beclouded

4. % Fatuous

Question Id : 630680362314 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (147 to 150)
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Read the following information carefully and answer the given questions.

The world as we know it today is almost inconceivable without the rich and
colorful landscapes created by plant life. Among them are flowering plants,
or angiosperms, which are by far the most diverse and abundant group of
plants, making up over 80% of all known species, including all our staple
food crops.

But the world was not always like this. There was a time when plant life
was almost exclusively green. Then, in the time of the dinosaurs. the world
burst magnificently into bloom.

Flowers blessed our environment with chromatic vibrancy. but they also
upturned food chains and elbowed out their nonflowering predecessors.
Little is known about how ecosystems reacted to this sudden blossoming.
But now, a tiny beetle, preserved in amber for 99 million years, has
provided a wvaluable clue about how insects first began nourishing
themselves on a colorful new platter of plants.

‘While there are debates about when exactly angiosperms originated. there
is a little quarrel that they first became diverse in the Early Cretaceous,
around 125 million years ago.

It is believed that the explosive radiation of angiosperms that displaced the
gymnosperms — the incumbent, flowerless champions of the plant world —
caused unprecedented upheaval in terrestrial ecosystems. changing the
food chain at all levels from the herbivores to their predators.

The largest remaining group of gymnosperms are the conifers, such as
pines and cypresses. Many gymnosperms are pollinated by wind, although
some produce sugar-containing pollination drops, such as fern-like cycads,
which maintain an ancient relationship with beetles. Flowering angiosperms
quickly outcompeted most gymnosperms with their colorful and scented
galleries, which advertised their nectar to attract pollinators.

Yet we know very little about the life of the earliest angiosperms. Most
Cretaceous flowers have been recovered from burnt remains converted to
charcoal, making reconstructions of how they looked a rare and difficult
task. Scientists have also studied living angiosperms to try to reconstruct
what the world’s first flower might have looked like.

The pollinators of these early flowers have remained shrouded in a further
layer of mystery. Today., over 80% of angiosperms depend on insects,
such as bees and day-flying butterflies, to pollinate them. But these groups
were either not present or not diverse in the Cretaceous.

Sub questions

Question Number : 147 Question Id : 630680362315 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What caused unprecedented upheaval in terrestrial ecosystem?
Options :

1. # Displacement of gymnosperms

2. ¢ Explosive radiation of angiosperms

3. # Sudden change in food chain

4. % Extinction of dinosaurs

Question Number : 148 Question Id : 630680362316 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement(s) from the following.

1. Gymnosperms are flowering plants.
II. Angiosperms receives more pollination than gymnosperms.
II1. There is a vast information available about the angiosperms in the cretaceous period.

Options :
1. % Jand II
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2. % Only III
3.+ Only I
4. % 1,1l and I1I

Question Number : 149 Question Id : 630680362317 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What made it difficult for scientists to identify the physical appearance of earliest angiosperms?
Options :

1. # Living flowers of angiosperms were different from the earliest one.

2. ¥ Most of the flower remnants got converted into charcoal.

3. # There were no evidences available regarding their existence.

4. % Only sample of gymnosperms flower were available.

Question Number : 150 Question Id : 630680362318 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following words is the most opposite in meaning to the word - ‘shrouded’ as used in the passage?
Options :

1. ¢ Divulged

2. % Camouflaged

3. # Beclouded

4. % Fatuous
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